
+32 3 355 32 20 | www.pneuvano.com





1

2

3

4

5

6

7

8

9

10



+32 3 355 32 20 | www.pneuvano.com









1



1



1



1



1



5

6

8

7

1
2

3

4

1

1

2

3

4

5

6

7

8



1

GPP1000

Fa

My
Mx

Mr



1

1
2
3
6
G
Q



1

GPP1000

Fa

My
Mx

Mr



1

1
2
3
6
G
Q



1

GPP1000

Fa

My
Mx

Mr



1

1
2
3
6
G
Q



1

2

5

3
4

4

1

1



1

1

2 2 3 3

55

4

2
ep
eq
er
Q



1



1

6

5

7

2

4

83

1

1

2

3

4

5

6

7

8



1



1

1
2
3
A
B



1



M
1.

6

0.3

Ø
1.

6

Ø
3

O-Ring
Ø2x0.5

3938

1

1
2
3
dt
du
A
B
K
L



1



M
2

0.3

Ø
2

Ø
3

O-Ring
Ø2x0.5

3938

1

1
2
3
6
dt
du
A
B
K
L



1



M
2.

5

0.5

Ø
2.

5

Ø
4.

0

O-Ring
Ø2.5x0.75

3938

1

1
2
3
6
dt
du
A
B
K
L



1



M
3

0.5

Ø
3

Ø
4.

5

O-Ring
Ø3x0.75

3938

1

1
2
3
6
dt
du
A
B
K
L



1



M
3

0.8

Ø
3

Ø
5

O-Ring
Ø3x1

3938

1

1
2
3
6
dt
du
A
B
K
L



1



1

1
2
3
6
dt
du
A
B
K
L



1



M
5

1.2

Ø
5

Ø
8

O-Ring
Ø5x1.5

3938

1

1
2
3
6
dt
du
A
B
K
L



1



6

3

7

5

8

4
1

2

1

1

2

3

4

5

6

7

8



1



1

1
2
3
7
A
B



1



1

1
2
3
7
A
B
K
L



1



1

1
2
3
7
A
B



1



1

1
2
3
7
A
B
K
L



1



1

1
2
3
7
A
B
K
L



1



1

1
2
3
7
A
B
K
L



1



1

3

4

8

7

9

bl

5

2
6

1

1

2

3

4

5

6

7

8

9



1



3938

M
2

0.7

Ø
2

Ø
4

O-Ring

Ø2x1

1

1
2
3
6
7
bu
dt
du
A
B
K
L



1



3938

M
2

0.7

Ø
2

Ø
4

O-Ring

Ø2x1

1

1
2
3
6
7
bu
dt
du
A
B
K
L



1



3938

M
3

0.7

Ø
3

Ø
5

O-Ring

Ø3x1

1

1
2
3
6
7
bu
dt
du
A
B
K
L



1



3938

M
3

0.7

Ø
3

Ø
5

O-Ring

Ø3x1

1

1
2
3
6
7
bu
dt
du
A
B
K
L



1



3938

M
5

1.1

Ø
5

Ø
8

O-Ring

Ø5x1.5

1

1
2
3
6
7
8
bu
dt
du
A
B
K
L



1



3938

M
5

1.1

Ø
5

Ø
8

O-Ring

Ø5x1.5

1

1
2
3
6
7
8
bu
dt
du
A
B
K
L



1



3938

M
5

1.1

Ø
5

Ø
8

O-Ring

Ø5x1.5

1

1
2
3
6
7
8
bu
dt
du
A
B
K
L



1



3938

M
5

1.1

Ø
5

Ø
8

O-Ring

Ø5x1.5

1

1
2
3
6
7
8
bu
dt
du
A
B
K
L



1



3938

M
5

1.1

Ø
5

Ø
8

O-Ring

Ø5x1.5

1

1
2
3
6
7
8
bu
dt
du
A
B
K
L



1



3

8

2

6

4

57

1

1

1

2

3

4

5

6

7

8



1



4 4

68

S

1212

40

20

46

7.
5

17

14.5

40

5
20

16

60

32

M6

P

115H7

25
.9

14

30±0.02

10
±0

.0
2

36
.2

2 2

92

16H7

19.5

10
H

7

14
±0

.0
2

19
.5

20±0.02

25

12

60

6

B`

A`

2x M6
DIN 912*

2x M5
4x M3x5

7

1
2

5H7x7

4x M5x8

1

1

4

2x 5H7x7 1

A

B

3

3

3

2

H M5

2x G1/8"

M6x12
DIN 7984

4x 3H7x8
5

1

S = 15.5
P =  4.5

1

4 646

80

A`

B`

1
2
3
4
5
6
7
A
B
K
L
H



1



55

110

20 20

S

64

8
29

32 24
H

7

24H7

32

8
29 45 54

24

24.5

64

79

3

49

41
.2

64±0.02

30

150

93

70

30H7

2

34

P

M8

11.5

39
±0

.0
2

20

20

12

32±0.02

4x M3x5

S = 17.5
P =  5.5

6

A`

B`

2x M5

7

2

2x M8
DIN 912*
1

6H7x81

1 4x M8x10

4

A

B

3

3

2x G1/8"

M5H

2

8x M6x83

5

1

2x 6H7x8 1

1

558 8

126

A`

B`

1
2
3
4
5
6
7
A
B
K
L
H



1



5 5

160

30

S

30

80

50

10
44

10
4464

12
8

36

29

80

100

3

40H7 3

64

50

13.5

P

M8

53
.8

15

80±0.02

21
±0

.0
2

30

40±0.02

220

75

97

44

30H7

44

30
H

7

6

A`

B`

2x M10
DIN 912*

2x G1/8"
1

2
4x M3x57

A

B

3

3

2 2x G1/4"

M5H

5

S = 23.5
P =  5.5

1

8x M8x123

4x M10x12

8H7x12

1

1

4

2x 8H7x12 1

1

5 510 10

180

A

B

1
2
3
4
5
6
7
A
B
K
L
H



1



S

250

5 5 4040

68

45±0.02

68

58

58

18H7

18
H

7

10
68

46

120

160

27
34 88

17
6.

5

10
7

M10

P

86

45H7

3

4

330

20

120±0.02

44
±0

.0
2

38

38

75
.8

64
12

6

A`

B`

2x G1/8"4x M10
DIN 912*

1 2

A

B

3

3

2

3
8x M8x12

2x G1/4"

G1/8"H

5

1

8H7x12

4x M10x12

1

1 2x M6x12 7
S = 58.5
P = 18.5

4

2x 8H7x12 1

1

5 5 1515

280

A`

B`

1
2
3
4
5
6
7
A
B
K
L
H



1



5

6

8 7

1 29

3

4

1

1

2

3

4

5

6

7

8

9



Mx
My

Mr

Fa



1
2
3
6
bu
dq

dt
du
A
B
K
L



1

2

3

5

4

1 2



3 3

4 4 4

5 5

3



Mx
My

Mr

Fa



1
2
3
6
bu
dq

dt
du
A
B
K
L



1

2

3

7

6

4

5

1 2



4
5

3 3 4

5 6 6 6

7 7

3 4
5



Mx
My

Mr

Fa



1
2
3
6
7
bu
dq
dt

du
ep
eq
A
B
K
L



1

2

3

7

6

4

5

8

1 2



4
5

3 3 4

5 7 6 6 6

8

3 4
5



Mx
My

Mr

Fa



1
2
3
6
7
bu
dq
dt

du
ep
eq
A
B
K
L



1

2

3

7

6

4

5

8

12



4
5

3 3 4

5 7 6 6 6

8

3 4
5



Mx
My

Mr

Fa



1
2
3
6
7
bu
dq
dt

du
ep
eq
A
B
K
L



1

2

3

7

6

4

5

8

12



4
5

3 3 4

5 7 6 6 6

8

3 4
5



Mx
My

Mr

Fa



1
2
3
6
7
bu
dq
dt

du
ep
eq
A
B
K
L



1

2

3

7

6

4

5

8

1 2



4
5

3 3 4

5 7 6 6 6

8

3 4
5



Mx
My

Mr

Fa



1
2
3
6
7
bu
dq
dt

du
ep
eq
A
B
K
L



1

2

3

7

6

4

5

8

1 2



4
5

3 3 4

5 7 6 6 6

8

3 4
5



Mx
My

Mr

Fa



1
2
3
6
7
bu
dq
dt

du
ep
eq
A
B
K
L



1

2

3

7

6

4

5

8

1 2



4
5

3 3 4

5 7 6 6 6

8

3 4
5



Mx
My

Mr

Fa



1
2
3
6
7
bu
dq
dt

du
ep
eq
A
B
K
L



1

2

3

7

6

4

5

8

12



4
5

3 3 4

5 7 6 6 6

8

3 4
5



1

Mx
My

Mr

Fa



1

1
2
3
6
7
bu
dq
dt

du
ep
eq
A
B
K
L



2 7
6

8

1

1

12



1

7 6 6 6



Mx
My

Mr

Fa





1



1



1



4

8

3

2

1

5

6

7

1

1

2

3

4

5

6

7

8



1

Fa

My
Mx

Mr



21.5

29 7.5

20
±0

.0
2 

ø2
.5

H
7

25.5

44

77
.5

28
 ±0.02 ø2.5H7

8

~16.8

13

6.5

2.
5

27

17
.8

28
   ±0.02 ø2.5H7

8

43
.5

±0
.0

2

49
.5

40

49
.5

5.
5

5

1 1.9

4x
 M

2.
5

4x
 

4h
7

43
.5

±0
.0

2

16
±0.02 ø2.5H7

27

33
.5

±0
.0

2

2x 2.5H7x3
1

2x 2.5H7x4

4x M3x4.5

1

1

2x 2.5H7x3

X

1

1

2

4x M3
DIN912*

1
4x M4x5

X

3
3

2x 2.5H7x4

2x M4x6.5

1

1

1

1
2
3



1

Fa

My
Mx

Mr



30

37 11

38
59

8.
5

99
.5

57
.5

1137
±0.02 ø4H7

~16.8 51.5

26
±0

.0
2 

ø4
H

7

1137
±0.02 ø4H7

50
.5

±0
.0

2

57
.5

35

17
.8

9

17

3.
5

8

1.5 2.4

4x
 

5h
7

4x
 M

3

50
.5

±0
.0

2

22
±0.02 ø4H7

40
±0

.0
2

32

2x 4H7x4

1

4x M4x6

2x 4H7x5

1

1

X

2x 4H7x4 1

2

4xM4
DIN912*

14x M5x8

1

X

3

3

2x 4H7x4

2x M5x8

1

1

1

1
2
3



1



1

1

2

3

4

5

6

7

8



1

60

120

0

30

90

150

20 30 50
0

4010

GEP1402
GEP1402

Fa

My Mx
Mr



1

1
2
3



1

140

280

0

70

210

350

36 54 90
0

7218

GEP1406C
GEP1406O

Fa

My Mx
Mr



1

1
2
3



1



5

6

18 3

4

7

2

1

1

2

3

4

5

6

7

8



1

Mx

My Mr

Fa



1

1

2

3

bu

dq

ep



1

2

3

4

5

6

1

1 2



4
5

1

3 3 4

5 6 6

3 4
5



1

Mx

My Mr

Fa



1

1

2

3

bu

dq

ep



1

2

3

4

5

6

1

12



4
5

1

3 3 4

5 6 6

3 4
5



1

Mx

My Mr

Fa



1

1

2

3

bu

dq

ep



1

2

3

4

5

6

1

12



4
5

1

3 3 4

5 6 6

3 4
5



1



1



1



6

1
3

4

2

5

7

8

1

1

2

3

4

5

6

7

8



1



25

40±0.02

10 46

45

20±0.02

20
±0

.0
2

31

36

54

2 10210

32

98

78

10

25

40±0.02

1.9 2

4x
5h

7

4x
M

3

B A

2x M5

2x M3x4.5

2

7

37

376

B`

A`

2x M3

2x 4H7x6

2x M4x6

2

1

1

X

2x 4H7x4

2x M4x6

1

1

3

3

X

M
3

0.8

Ø
3

Ø
5

O-Ring
Ø3x1

3938

1

1
2
3
6
7
ds
dt
du
A
B
K
L



1



35

50±0.02

10 46

45

20±0.02

20
±0

.0
2

31

76

56

2 2 20

32

20

100

140

10

50±0.02

35

1.9 2

4x
5h

7

4x
M

3

B A

2x M5

2x M3x4.5

2

7

37

376

X

B`

A`

2x M3

2x 4H7x6

2x M4x61

1

2

2x 4H7x4

2x M4x61

1

X

3

3

M
3

0.8

Ø
3

Ø
5

O-Ring
Ø3x1

3938

1

1
2
3
6
7
ds
dt
du
A
B
K
L



1



14 57

34

52±0.02

43

66

2.510 102.5

40

56

39

28±0.02

28
±0

.0
2

115

95

12

34

52±0.02

4x
8h

7

8x
M

5

1.9 2

37

B A

2x M5

4x M3x6

2

7

37

6

A`

B`

2

1

1

2x M5

2x M5x8

2x 5H7x6

X

2x M5x8

2x 5H7x6

1

1

X

3

3

M
5

1.2

Ø
5

Ø
8

O-Ring
Ø5x1.5

3938

1

1
2
3
6
7
ds
dt
du
A
B
K
L



1



44

62±0.02

14 57

86

2.5 2.5 2020

63

56

28±0.02

28
±0

.0
2

39

115

155

12

4x
8h

7

8x
M

5

1.9 2

44

62±0.02

40

37

AB

7

2

37

6
2x M5

4x M3x6

A`

B`

2x M5x8

2x 5H7x6

1

1

22x M5

X

2x M5x8

2x 5H7x6

1

1

X

3

3

M
5

1.2

Ø
5

Ø
8

O-Ring
Ø5x1.5

3938

1

1
2
3
6
7
ds
dt
du
A
B
K
L



1



4x
10

h7

8x
M

6

1.9 2

64

90±0.02

167

227

17.5

79

57

40
±0

.0
2

40±0.02

125

3.5 3.5 3030

90

58

8021

64

90±0.02

37

AB

2x M5

4x M3x6

2

7

37

6

A`

B`

2x M6x10

2x 6H7x81

1

22x M5

X

2x M6x10

2x 6H7x81

1

X

3

3

M
5

1.2

Ø
5

Ø
8

O-Ring
Ø5x1.5

3938

1

1
2
3
6
7
ds
dt
du
A
B
K
L



1



64

90±0.02

187

267

17.5

4x
10

h7

8x
M

6

1.9 2

79

57

40
±0

.0
2

40±0.02

145

3.5

110

40 3.5 40

58

8021

64

90±0.02

37

B A

2x M5

4x M3x67

2
6

37

B`

A`

2x M6x10

2x 6H7x8

2x M5 2

1

1

X

2x M6x10

2x 6H7x8

1

1

X

3
3

M
5

1.2

Ø
5

Ø
8

O-Ring
Ø5x1.5

3938

1

1
2
3
6
7
ds
dt
du
A
B
K
L



1



90

120±0.02

234

334

20

8x
M

8

2

140

184

5 50550

72

50
±0

.0
2

50±0.02

71

97

26 98

90

120±0.02

4x
12

h7

1.9

37

AB

2x G1/8"

4x M3x67

2 6

37

B`

A`

2x 8H7x12

2x M8x12

2x M5

1

1

2

X

2x M8x12

2x 8H7x121

1

X

3

3

M
5

1.2

Ø
5

Ø
8

O-Ring
Ø5x1.5

3938

1

1
2
3
6
7
ds
dt
du
A
B
K
L



1



90

120±0.02

26 98

97

71

50±0.02

50
±0

.0
2

190

234

72

5 75575

284

434

20

90

120±0.02

4x
12

h7

8x
M

8

21.9

37

AB

2x G1/8"

4x M3x6

2

7

37

6

A`

B`

2x 8H7x12

2x M8x12

2x M5

1

1

2

X

2x 8H7x12

2x M8x121

1

X

3

3

M
5

1.2

Ø
5

Ø
8

O-Ring
Ø5x1.5

3938

1

1
2
3
6
7
ds
dt
du
A
B
K
L



1



284

140

170±0.02

26

97

71

50±0.02

50
±0

.0
2

72
98

5100 5 100

334

534

20

140

170±0.02

4x
12

h7

8x
M

8

240

1.9 2

37
2x G1/8"

4x M3x67
62

37

AB

2x M8x12

2x 8H7x12

2x M5

1

1

2

A`

B`

X

2x 8H7x12

2x M8x12

1

1

3
3

X

M
5

1.2

Ø
5

Ø
8

O-Ring
Ø5x1.5

3938

1

1
2
3
6
7
ds
dt
du
A
B
K
L



1



1

1

2

3

4

5

6

7

8



1



3938

M
3

1

Ø
3

Ø
6

O-Ring

Ø3x1.5

1

1
2
3
4
6
dt
du
A
B
K
L



1



80±0.02

3548

20

29

5.
5

2.
8

3025

80

5
12

4x 5h7

60

19

13.5

9.
5

15

5.3

1.
3

5

6.5

30

22

4

8±0.02 8±0.02

70 40

7040

6x M3 x51.
9

2

X Y

4

1 2x M4
DIN 912*

AB

2x M52

67

2xM4x72xM4x7

B`

A`

2x 4H7x6

2x M32

1

1

2x M5x8

4x M4x6

2x 4H7x4

1

1

X
3

3

Y

3938

M
3

1

Ø
3

Ø
6

O-Ring

Ø3x1.5

1

1
2
3
4
6
7
dt
du
A
B
K
L



1



80±0.02

20
5

6.5

5.
5

2.
8

25

30

1.
3

4x 5h7

6x M3 x51.
9

2

4

8±0.02 8±0.02

90 60

9060

22

80

5
12

19

120

60

3548

29

50

5.3

13.5

9.
5

15

X Y

B A

2x M52

7 6

2x M4x7 2x M4X7

A`

B`

2x 4H7x6

2

1

1

2x M3

4x M5x8

4

1 4x M4
DIN 912*

4x M4x6

2x 4H7x4

1

1

Y

3

3

X

3938

M
3

1

Ø
3

Ø
6

O-Ring

Ø3x1.5

1

1
2
3
4
6
7
dt
du
A
B
K
L



1



20
5

6.5

30

5.
5

2.
8

25

80±0.02

22

4

8±0.02 8±0.02

80

80 110

80

5

19

12

6x M3 x5

4x 5h7

1.
9

2

1.
3

60

120

3548

29

70

110

5.3

13.5

9.
5

15

X
Y

AB

7

2x M52

6

2x M4x7 2x M4x7

B`

A`

2x 4H7x6

2

1

1

2x M3

4x M5x8

4

1 4x M4
DIN 912*

2x 4H7x4

4x M4x61

1

3

3

X

Y

3938

M
3

1

Ø
3

Ø
6

O-Ring

Ø3x1.5

1

1
2
3
4
6
7
dt
du
A
B
K
L



1



80 60

70±0.02

90

49 50

16

8
20

80 40

8040

10

20.5

9
33

80

8
20

6x M x85

2

2

6.2

18
12

62

37

10±0.02 10±0.02

8

38

4x h77

1.
9

A

B

7

2x G1/8"2

2x M5x5.5

6

84x M5x8

B'

A'

2x M5

2x 6H7x8

2x M8x12

2

1

1

4

2x M6
DIN 912*

1

2x 4H7x4

4x M5x7

1

1

X Y4x M5x8

X

3

3

Y

2

5

9

1

1
2
3
4
6
7
8
dt
du
A
B
K
L



1



6080

70±0.01

90

49 50

8
20

26

10

20.5

33
9

100 60

10060

80

8
20

4x h77

6x M x85

2

2

6.2

37

62

12
18

1.
9

38

8

10±0.02 10±0.02

A

B

2x G1/8"2

7

2x M5x5.58

6

B'

A'

2x M5

2x 6H7x8

2x M8x12

2

1

1

4

2x M6
DIN 912*

1

2x 4H7x4

4x M5x7

1

1

4x M5x8

X
Y4x M5x8

X
3

3

Y

2

5

9

1

1
2
3
4
6
7
8
dt
du
A
B
K
L



1



80 60

70±0.02

90

49 50

8
20

36

10

20.5

33
9

120 80

80 120

80

8
20

4x 7h7

6x M5 x8

2

2

6.2

12
18

62

1.
9

38

8

10±0.02 10±0.02

37

2x G1/8"2

7

A

B

2x M5x5.58

6

B'

A'

2x M5

2x 6H7x8

2x M8x12

2

1

1

4

2x M6
DIN 912*

1

2x 4H7x41

4x M5x71

X
Y4x M5x8

4x M5x8

X

3

3

Y

2

5

9

1

1
2
3
4
6
7
8
dt
du
A
B
K
L



1



50±0.02

80

7010
0

29

16

15
55

.5 78
.5

22

42 80

8

10

15±0.02 15±0.02

90 40

9040

50
9

40 54

100

6x M x106

4x h710

1.
9

2

2

9

8214
35

A

B

7

2x G1/8"2

2x M5x5.56 8

4x M5x8

X Y

4x M5x8

B`

A`

2x M10x15

2x 8H7x8

2x M52

1

1

4

2x M8
DIN 912*

1

4x M6x9

2x 6H7x8

1

1

X
3

3

Y

2

5

9

1

1
2
3
4
6
7
8
dt
du
A
B
K
L



1



80

120±0.02

7010
0

55
.5

15

16

29

78
.5

42 8
42

80

10

15±0.0215±0.02

110 60

11060

50

100

9
40 54

1.
9

2

6x M x106

4x h710

2

9

8214
35

A

B

2x G1/8"2

7 2x M5x5.5 86

4x M5x8

X Y

4x M5x8

B`

A`

1

1

2 2x M5

2x M10x15

2x 8H7x8

4

2x M8
DIN 912*

1

2x 6H7x8

4x M6x91

1

3

3

X

Y

2

5

9

1

1
2
3
4
6
7
8
dt
du
A
B
K
L



1



80

120±0.02

160

10
0

78
.5

8
42

62

80

50

10

130 80

80 130

100

9

5440

29

16

55
.5

15

6x M x106

4x h710

1.
9

2

15±0.0215±0.02

2

9

8214
35

70

7

2x G1/8"2

A

B

2x M5x5.5 86

4x M5x8

B'

A'

2x M5

2x 8H7x8

4x M10x15

2

1

1

4

14x M8
DIN 912*

4x M6x9

2x 6H7x8

1

1

X Y

4x M5x8

3

3

X

Y

2

5

9

1

1
2
3
4
6
7
8
dt
du
A
B
K
L



1



7010
0

140±0.02

80

200

78
.5 80

82

8
42

16

29

55
.5

15

150 100

50

10

100

9
40 54

1.
9

2

4x h710

6x M x10615±0.02 15±0.02

2

9

8214
35

100 150

A

B

7 8

2x G1/8"2

2x M5x5.56

2x M5

2x 8H7x8

4x M10x15

2

1

1B'

A'

4

4x M8
DIN 912*

1

4x M6x9

2x 6H7x8

1

1

4x M5x8

X
Y

4x M5x8

X
3

3

Y

2

5

9

1

1
2
3
4
6
7
8
dt
du
A
B
K
L



1



240±0.02

180

300

10
0

16

29

55
.5

15

78
.5

8
42

80

132

10

15±0.02 15±0.02

200 150

50

150 200

100

9
40 54

6x M x106

4x h710

1.
9

2

2

9

8214
35

70

A

B

2x G1/8"2

7 82x M5x5.56 X
Y4x M5x8

4x M5x8

B'

A'

2x M5

2x 8H7x8

4x M10x15

2

1

1

4

14x M8
DIN 912*

4x M6x9

2x 6H7x8

1

1

X
3

3

Y

2

5

9

1

1
2
3
4
6
7
8
dt
du
A
B
K
L



1



90

130±0.02

8512
0

70
19

34

19

10
0

46.5

50
11

10
1.

5

20
42

100

4x 12h7

6x M8 x15

2

9.5

2

62

10

18±0.02 18±0.02

125 60

60 125

120

50
11

70

1.
9

A

B

2x M5x6

2x G1/8"2

87 6

4x M5x8

YX4x M5x8

B`

A`

2x M5

2x 10H7x12

2x M12x18

1

1

2

2x M10
DIN 912*

1

4x M8x10

2x 8H7x10

1

1

Y

X
3

3
2

5

9

1

1
2
3
4
6
7
8
dt
du
A
B
K
L



1



90

145±0.02

200

8512
0

70
19

34

19

10
0

66.5

50
11

10
1.

5

42
20

100

18±0.02 18±0.02

10

165 100

165

62

4x 12h7

6x M8 x15

2

9.5

2

120

50
11

70

100

1.
9

A

B

2x G1/8"

2x M5x6

2

87 6

A`

B`

2x M5

4x M12x18

2x 10H7x12

1

1

2

X Y4x M5x8

4x M5x8

4

1

4x M10
DIN 912*

4x M8x10

2x 8H7x10

1

1

X
3

3

Y

2

5

9

1

1
2
3
4
6
7
8
dt
du
A
B
K
L



1



19
70

34

19

50
1190.5 100

20
42

8512
0

230

170±0.02

110

10

18±0.02 18±0.02

215 150

150 215

62

4x 12h7

6x M8 x15

2

2

9.5

120

50
11

70

10
1.

5

10
0

1.
9

A

B

2x G1/8"

2x M5x6 8

2

67

4x M5x8

4x M5x8 X Y

B`

A`

2x M5

4x M12x18

2x 10H7x12

1

1

2

4x M10
DIN 912*

1

4

2x 8H7x10

4x M8x10

1

1

X
3

3

Y

2

5

9

1

1
2
3
4
6
7
8
dt
du
A
B
K
L



1



100

140±0.02

11
6

15
4

12
0

44.5

14
60 12

1.
5

60

60

24

43

83
.5

22
.5

80

13
.5

60

130

2.
6

6x M x17.510

2

8

12420
55

125

125

12

2.
4

4x h714

78

22±0.02 22±0.02

B

A

2x G1/4"2

7 82x M5x66 X Y

4x M6x94x M6x9

B'

A'

2x M6

2x M16x24

2x 12H7x14

2

1

1

4

2x M12
DIN 912 *

1

2x 8H7x10

1

1

4x M10x15

X

3

3

Y

1,5

2

9

6

66

1

1
2
3
4
6
7
8
dt
du
A
B
K
L



1



11
6

15
4

100

160±0.02

220

24

43

12
0

84.5

60
14

12

22±0.02 22±0.02

165 100

100 165

78

13013
.5

60 80

83
.5 12

1.
5

22
.5

2.
6

4x h714

6x M x17.510

20
55

124

2

8

2.
4

7

2x G1/4"2

B

A

82x M5x66

4x M6x9

X Y

4x M6x9

2x M6

2x 12H7x14

4x M16x24

2

1

1B`

A`

4

14x M12
DIN 912*

2x 8H7x10

1

1

4x M10x15

X
3

3

Y

1,5

2

9

6

66

1

1
2
3
4
6
7
8
dt
du
A
B
K
L



1



15
4

11
6

260±0.02

200

320

12
1.

5

14
60

134.5

12
0

24

43

83
.5

22
.5

215 150

150 215

130

13
.5

60 80

2.
6

6x M x17.510

4x h714

2

8

12420
55

2.
4

78

12

22±0.02 22±0.02

A

B

2x G1/4"2

7 82x M5x66

4

14x M12
DIN 912*

2x 8H7x10

1

1

4x M10x15

B'

A'

2x M6

2x 12H7x14

4x M16x24

2

1

1

4x M6x9

X Y

4x M6x9

X
3

3

Y

2

5

12

8

88

1

1
2
3
4
6
7
8
dt
du
A
B
K
L



1



11
6

15
4

260±0.02

200

320

12
1.

5

14
60

184.5

12
0

24

43

83
.5

22
.5

265 200

200 265

130

13
.5

60 80

6x M x17.510

4x h714

2.
6

2

8

12420
55

78

12

22±0.02 22±0.02 2.
4

7 8

2x G1/4"2

A

B

2x M5x66 X
Y4x M6x9

4x M6x9

B'

A'

2x M6

2x 12H7x14

4x M16x24

2

1

1

4

14x M1 2
DIN 912*

2x 8H7x10

1

1

4x M10x15

X
3

3

Y

2

5

12

8

88

1

1
2
3
4
6
7
8
dt
du
A
B
K
L



1



1

2

4



1



1

2

8

3

4

6

7

5

1

1

2

3

4

5

6

7

8



1



3938

1

1
2
3
7
8
dt
du
A
B
K
L



1



3938

1

1
2
3
7
8
dt
du
A
B
K
L



1



1



1



8

1
73

4

5

6

2

1

1

2

3

4

5

6

7

8



1

Fa

My Mx
Mr



1

1
2
3



1

Fa

My Mx
Mr



1

1
2
3



1

Fa

My Mx
Mr



1

1
2
3



Fa

My Mx
Mr





1



1

52

7
8

6

3

4

11

5522

77777777777777777777
8888888888888888

666

333333333333333333333333333333333333333333333

44

1

1

2

3

4

5

6
7

8



1

Fa

My Mx
Mr



1

1
3
bl
cm
cn



8

1

7
3

4

5

6
2

1

1

2

3

4

5

6

7

8





1



1



1



1

7

8

4

3

5

2
6

1

1

2

3

4

5

6

7

8



1

Fa

Mx My
Mr



10
.5

1

3.
5

6

21

5.
4

26

15

10
.6

17
.8

2
5±

0.
02

6x
 

3h
7

6x
 M

2x
3

2 0.7

15.5
±0.02 ø2H7

6.
4

6.7

55°

21

3.8

2x M3 2

B

A

1

1

2

A`B`

2x M2

2x 2H7x4

2x M3x6

3x M2
DIN 912*

1

X

3 3

X

M
2

0.8

Ø
2

Ø
4

O-Ring
Ø2x1

3938

1

1
2
3
dt
du
A
B
K
L



1

Fa

Mx My
Mr



2
13

6.9

8.
3

19
±0.02 ø2.5H7

26

6.
4 13

.4

32

19

7.5

4

23
.3

2.
5

5±
0.

02

6x
 

3h
7

6x
 M

2x
3.

5

2 0.7

45°

26

4.8

B

A

2x M3 2

X

A`B`

2x M2

2x 2.5H7x5

3x M3x6

2

1

1

1 3x M2.5
DIN 912*

X

3 3

M
2

0.8

Ø
2

Ø
4

O-Ring
Ø2x1

3938

1

1
2
3
dt
du
A
B
K
L



1

Fa

Mx My
Mr



3

15
.5

5

9

5.8

40
.8

7±
0.

01
3

35
.5

51
.5

7.
9

28
.1

31

6x
 

4h
7

6x
 M

2.
5x

3

1.92

24
±0.02 ø3H7

9

12.6

70°

44

2

6

2x M3

B

A

2

1

1

B`A`

2x M2.5

2x 3H7x6

3x M4x7

3x M3
DIN 912*

1

X

33

X

M
2.

5

0.8

Ø
2.

5

Ø
4.

5

O-Ring
Ø2.5x1

3938

1

1
2
3
6
dt
du
A
B
K
L



1

Fa

Mx My
Mr



4

19

29
±0.02 ø4H7

11
.4

14.5

8.
2

58
.5

39
.5

38

30
.2

6x
 

4h
7

1.92

6x
 M

3x
4

6

6.8

11

45
.8

8±
0.

02
3.

5

65°

50

2

6

2x M3

B

A

A` B`

3x M5x8

2x 4H7x6

2x M3 2

1

1

1
3x M4

DIN 912*

X

33

X

M
3

0.8

Ø
3

Ø
5

O-Ring
Ø3x1

3938

1

1
2
3
6
dt
du
A
B
K
L



1

Fa

Mx My
Mr



6
24

38
±0.02 ø4H7

15

18

66

43

8.
7

34
.4

48

1.92

6x
 

5h
7

6x
 M

3X
5

13

7.7

7

52
.8

4
8±

0.
02

62°

57

A

B

6

2 2x M5

X

B`A`

2x M4

2x 4H7x6

3x M5x8

2

1

1

1
3x M4

DIN 912*
X

3 3

3938

M
4

0.8

46

O-Ring
4x1

1

1
2
3
6
dt
du
A
B
K
L



1

Fa

Mx My
Mr



8

30
.5

61
.8

5
11

±0
.0

2

9

16

9.7

61

10
.8

39
.3

79

49

1.92

6x
 

6h
7

6x
 M

4x
7

47
±0.02 ø5H7

21.7

19

59°

67

A

B

6

2 2x M5

B`A`

2

1

1

2x M4

2x 5H7x7

3x M6x10

3x M5
DIN 912*

1

X

33

X

3938

M
4

0.8

46

O-Ring
4x1

1

1
2
3
6
dt
du
A
B
K
L



1

Fa

Mx My
Mr



76
.8

12
±0

.0
2

6

10

19

11.7

75

48
.1

13
.4

61

97

1.93

6x
 

8h
7

6x
 M

5x
8

60
±0.02 ø6H7

24
.6

26.7

57°

83

10

37
.5

A

B

2

6

2x M5

X

B`A`
1

1

22x M5

2x 6H7x8

3x M8x12

3x M6
DIN 912*

1
X

3 3

M
5

1.2

Ø
5

Ø
8

O-Ring
Ø5x1.5

3938

1

1
2
3
6
dt
du
A
B
K
L



1

Fa

Mx My
Mr



12

45
.5

87
.8

7
15

±0
.0

2

10

23

13.7

68

11
1

51
.8

14
.491

73
±0.02 ø6H7

6x
 1

0h
7

6x
 M

6x
8

1.92

30
.6

31.9

94

55°

A

B

2

6

2x G1/8"

1

1

2

B`A`

2x M5

2x 6H7x8

3x M8x12

3x M6
DIN 912*

1

X

X

33

M
5

1.2

Ø
5

Ø
8

O-Ring
Ø5x1.5

3938

1

1
2
3
6
dt
du
A
B
K
L



1



1 4

5
32

6

7

8

1

1

2

3

4
5

6

7

8



1

Fa

Mx My
Mr



1

1
2
3
bs
A
B
K
L



1

Fa

Mx My
Mr



1

1
2
3
bs
A
B
K
L



1

Fa

Mx My
Mr



1

1
2
3
bs
A
B
K
L



1



1

7

6

5

8

4

32 bl

9

1

1

2

3

4

5

6

7

8

9



1

120

240

0

60

180

300

20 30 50
0

4010

GD303NC-C
GD303NO-C
GD303N-C
 N

Fa

Mx My
Mr



1

1
2
3
6
7
bu
dt
du
A
B
K
L



1

600

1200

0

300

900

1500

30 45 75
0

6015

GD304SC-C
GD304SO-C
GD304S-C
GD304NC-C
GD304NO-C
GD304N-C
 S
 N

Fa

Mx My
Mr



1

1
2
3
6
7
bu
dt
du
A
B
K
L



1

1000

2000

0

500

1500

2500

36 54 90
0

7218

GD306SC-C
GD306SO-C
GD306S-C
GD306NC-C
GD306NO-C
GD306N-C
 S
 N

Fa

Mx My
Mr



1

1
2
3
6
7
bu
dt
du
A
B
K
L



1

1600

3200

0

800

2400

4000

44 66 110
0

8822

GD308SC-C
GD308SO-C
GD308S-C
GD308NC-C
GD308NO-C
GD308N-C
 S
 N

Fa

Mx My
Mr



1

1
2
3
6
7
bu
dt
du
A
B
K
L



1

2500

5000

0

1250

3750

6250

50 75 125
0

10025

GD310SC-C
GD310SO-C
GD310S-C
GD310NC-C
GD310NO-C
GD310N-C
 S
 N

Fa

Mx My
Mr



B A

19

2

M5

2x G1/8"

B' A'

2x M5

2x 5H7 x8

3x M8x12

2

1

1

2x M3x5 7

2x M3x4 8

2x M3x57

2x M3x48

3x M6
DIN 912*

1

2x M3x5

2x M3x4

7

8

X 3

3

S
5

51
54

24

90
±0.02 5H7

114

42

10
28

24

6871

64
.9

1

2
1.

9 6x M 6 x10

6x 10 h7

90
34

.3

26
14 10

18
±0

.0
2

N
10

6

X

1

1
2
3
6
7
bu
dt
du
A
B
K
L



1

4000

8000

0

2000

6000

10000

64 96 160
0

12832

GD312SC-C
GD312SO-C
GD312S-C
GD312NC-C
GD312NO-C
GD312N-C
 S
 N

Fa

Mx My
Mr



1

1
2
3
7
8
bu
dt
du
A
B
K
L



1

8000

16000

0

4000

12000

20000

80 120 200
0

16040

GD316SC-C
GD316SO-C
GD316S-C
GD316NC-C
GD316NO-C
GD316N-C
 S
 N

Fa

Mx My
Mr



1

1
2
3
7
8
bu
dt
du
A
B
K
L



1

8000

16000

0

4000

12000

20000

100 150 250
0

20050

GD320S-C
GD320N-C

Fa

Mx My
Mr



Ø
6

Ø
9

M
6

1.2 O-Ring
Ø6x1.5

3938

1

1
2
3
7
8
bu
dt
du
A
B
K
L



1

16000

32000

0

8000

24000

40000

100 150 250
0

20050

GD330S-C
GD330N-C
 

Fa

Mx My
Mr



M
3

0.8

Ø
3

Ø
5

O-Ring
Ø3x1

3938

1

1
2
3
7
8
bu
dt
du
A
B
K
L





2

567

8

19

3

4

1

2

3

4

5

6

7

8

9



1

Mx
My

Mr

Fa



1

1
2
3
6
bu
dq
dt

du
eq
A
B
K
L



1

2

3

4

1

1



1

2 2

3 3 3

4 4

2



1

Mx
My

Mr

Fa



1

1
2
3
6
bu
dq
dt

du
eq
A
B
K
L



1

2

3

4

5
6

1

1



3
4

1

2 2

3 4 5 5

5 6 6

2 3
4



1

Mx
My

Mr

Fa



1

1
2
3
6
7
bu
dq
dt

du
ep
eq
A
B
K
L



1

2

3

4

5
6

7

1

1



3
4

1

2 2 3

4 6 5

5 5 7

2 3
4



1

Mx
My

Mr

Fa



1

1
2
3
6
7
bu
dq
dt

du
ep
eq
A
B
K
L



1

2

3

4

5
6

7

1

1



3
4

1

2 2 3

4 6 5

5 5 7

2 3
4



1

Mx
My

Mr

Fa



1

1
2
3
6
7
bu
dq
dt

du
ep
eq
A
B
K
L



1

2

3

4

5
6

7

1

1



3
4

1

2 2 3

4 6 5

5 5 7

2 3
4



1

Mx
My

Mr

Fa



1

1
2
3
6
7
bu
dq
dt

du
ep
eq
A
B
K
L



1

2

3

4

56

7

1

1



3
4

1

2 2 3

4 6 5

5 5 7

2 3
4



1

Mx
My

Mr

Fa



1

1
2
3
6
7
bu
dq
dt

du
ep
eq
A
B
K
L



1

2

3

4

56

7

1

1



3
4

1

2 2 3

4 6 5

5 5 7

2 3
4



1

Mx
My

Mr

Fa



1

1
2
3
6
7
bu
dq
dt

du
ep
eq
A
B
K
L



1

2

3

4

56

7

1

1



3
4

1

2 2 3

4 6 5

5 5 7

2 3
4



1

Mx
My

Mr

Fa



1

1
2
3
6
7
bu
dq
dt

du
ep
eq
A
B
K
L



1

2

3

4

56

7

1

1



3
4

1

2 2 3

4 6 5

5 5 7

2 3
4



Mx
My

Mr

Fa



Mx
My

Mr

Fa



1



1



1



1
2

5

3

4

6

8

7

1

1

2

3

4

5

6

7

8



1

60

120

0

30

90

150

20 30 50
0

4010

GED1302
GED1302

Fa

Mx My
Mr



1

1
2
3



1

140

280

0

70

210

350

36 54 90
0

7218

GED1306C
GED1306O

Fa

Mx My
Mr



1

1
2
3



1



6
7

1 2

3

4

5

8

1

1

2

3

4

5

6

7

8



1

Mx

My Mr

Fa



1

1

2

3

bu

dq

ep



1

2

3

4

5

1

1



3
4

1

2 2 3

4 5 5

2 3
4



1

Mx

My Mr

Fa



1

1

2

3

bu

dq

ep



1

2

3

4

5

1

1



3
4

1

2 2 3

4 5 5

2 3
4



1

Mx

My Mr

Fa



1

1

2

3

bu

dq

ep



1

2

3

4

5

1

2

3

4

5

1

1



3
4

1

2 2 3

4 5 5

2 3
4



1



1



1



5

8

1

2

3
7

4

6

1

1

2

3
4

5

6

7

8



1

300

1000

0

250

750

1250

120 180 300
0

24060

GD530

Fa

Mx My
Mr



1

1
2
3
7
A
B
K
L



1

1000

2000

0

500

1500

2500

160 240 400
0

32080

GD540

Fa

Mx My
Mr



1

1
2
3
7
A
B
K
L



1

1000

2000

0

500

1500

2500

160 240 400
0

32080

GD560

Fa

Mx My
Mr



1

1
2
3
7
A
B
K
L



1



1



1



2

4

3

64

1

7

8

5

1

1

2

3

4

5

6

7

8



1

Fa

My Mr



1

1
2
3
du



1

Fa

My Mr



1

1
2
3
du



1

Fa

My Mr



2x
M

5

M20x1.5

20f7

25

22
.5

11

1

17.5

32

20°

76 77
.9

46

8

G1/8"

20

40

12

1

17.5

20°

76 77
.9

48
.5

8

4x
M

4

20

30.5

20°

60
.5

1

1

GZ1040-01

2

1

39

GZ1040-02

GZ1040-03

3

1

1
2
3
du



1



1

5

4

6
3

2

8

7

1

1

2

3

4

5

6

7

8



1

Fa

My Mr



±0.02  Ø2H7
8

±0
.0

2 
 Ø

2H
7

6

3.
2

5.
5

2

4
75°

20

12

10

12

4.5

2x    Ø H72 1

1.
2

3.
9

2

3±
0.0

2

0.7

2

4x  M1.6

3

8±0.02

3

8±
0.

02

26

8

4x 
Ø

h7
2.5

3

1

B

A

2x  M3 22

2x  M1.6
DIN 912 *

11

1 2x  M2x3.51

1

33

2x   Ø2H7x2.51

1

1
2
3
A
B



1

Fa

My Mr



11.5

5.
5

4.5

5

5.
5

23

13
.5

5.5

16

12

9

4

±0.02  Ø2H7
13

2x  Ø H72 1

2

75°

5±0.02

13
.5

±0
.0

2

4x  Ø
h7

3

3

4x  M
2

3
2

0.7

2

4±
0.0

2

4.5

5

31

11

4.8

4.
2

6

B`

A`

2

1

B

A

22x  M3 2

2x  M2
DIN 912 *

11

B`

A`2

1 2x  M2x3.51

2x  M1.62

2x  Ø2H7x2.5 11

33

2x  M1.6 2

M
1.

6

0.3

Ø
1.

6

Ø
3

O-Ring
Ø2x0.5

3938

1

1
2
3
dt
du
A
B
K
L



1

Fa

My Mr



15
±0.02  Ø2H7
16.5

5

10
.5

6

4.
5

19

5.5

75°

2

6.
1

39

48

28

14

2x   Ø H72 1

6.5

20

14

7±0.02

28
±0

.0
2

1.9

1

4x   Ø
h7

4

3

4x   M
2.5

3

2.5

5±
0.0

2

5

20
4.

5

5.5

A`

B`

2

1

B

A

2x  M3 2

6

A`

B`

2x  M22

2x  M2.5x3.51

2

1

2x  M2
DIN 912*

11

2x   Ø2H7x2.511

3
3

2x  M2 2

M
2

0.3

Ø
2

Ø
3

O-Ring
Ø2x0.5

3938

1

1
2
3
6
dt
du
A
B
K
L



1

Fa

My Mr



7 14

21±0.02

19.4

20

5.
3

20
.2

6

7.2

3

6.
9

44

55

75°

2x   Ø H72 1

30

17 9

24

18

30
±0

.0
2

9±0.02

6

3

6±
0.0

2

2.7

1.2

4x   Ø
h7

5

3

4x  M
3

3

20
.2

5.
3 5

A`

B`

2

1

A

B

2x  M3 22

6
2x  M2.5
DIN 912*

11

A`

B`

2x  M2.52

2x  M3x51

2

1

33

1 2x  Ø2.5H7x31

2x  M2.5 2

M
2.

5

0.5

Ø
2.

5

Ø
4.

0

O-Ring
Ø2.5x0.75

3938

1

1
2
3
6
dt
du
A
B
K
L



1

Fa

My Mr



24

26±0.02

25

9 17 23

6
17

7.5

9

9.
3

61
.5

46
.5

5

2x    Ø H72.5 1

29
.5

75°

21 12

30

23

11±0.02

29
.5

±0
.0

2

4x    Ø
h7

6

3

4x   M4

32.7

1.26.5

4

8±
0.0

2

17
6

6.5 2

1

A

B

2x  M3 22

6 2x  M3
DIN 912*

11

A`

B`

2x  M32

2x  M4x61

2

1

2x   Ø3H7x411

33

A`

B`

2x  M3 2

M
3

0.5

Ø
3

Ø
4.

5

O-Ring
Ø3x0.75

3938

1

1
2
3
6
dt
du
A
B
K
L



1

Fa

My Mr



M
3

0.8

Ø
3

Ø
5

O-Ring
Ø3x1

3938

1

1
2
3
6
dt
du
A
B
K
L



1

Fa

My Mr



75°

34
36±0.02

2514

8
27

10.5

14

43

69

28

5

2x   Ø H73

28.8

42

33

14±0.02

43
±0

.0
2

8
27

8.5

5

10
±0

.02

9

4x   Ø
H7

8

4x  M
5

2.8

2.1

33

88

2x  M3

2x  M4x6

2

1

2x   M5

6

2

1

2x  M4
DIN 912*

2x  M5

2x   ø 4H7 x61

2

33

A

B

A'

B'

B'

A'

1

A-A B-B

C-C

1

1
2
3
6
dt
du
A
B
K
L



1

Fa

My Mr



42±0.02

39

38

382816

30
10

12

13 75°

16

77

47

6

2x   Ø H74

32.8

48

38

5

12
±0

.02

10

4x   Ø
H7

8

4x  M
5

2.8

2.1

10
30

11 16±0.02

47
±0

.0
2

32

99

1

2x  M3

2x  M5x8

2

2x  M5
DIN 912*

1

3
3

2x  M5

2x  ø4H7 x61

2

2x  M5

6

2

A

B

A'

B'

B'

A'

A-A

1

C-C

B-B

M
5

1.2

Ø
5

Ø
8

O-Ring
Ø5x1.5

3938

1

1
2
3
6
dt
du
A
B
K
L



1



8
5

4

1
6

2

3
7

1

1

2

3

4

5

6

7

8



1

Fa

My Mr



86
±0.02 6H7

26

27

53 4x 8h7

6x M5 x8

2
1.

9

76

17
.5

88

47
.5

42

56

100

20°

14

65

21
11

.5

56

84

28±0.02

28
±0

.0
2

30.45

10±0.02 10±0.02

4x 8h7

4x M5 x8.5

1.
9

2

26

39

47
.5

20±0.02

42

6

19

37

7 8

1

4x M3x5

2x M6
DIN 912*

B` A`

2x 6H7x6

4x M8x9 1

1

2 2x M5

X

B
A

2

2x M5

Y

B` A`

2x M5

2x M8x13

2x 6H7x8

1

1

2

X
3

3

Y
35

35

M
5

1.2

Ø
5

Ø
8

O-Ring
Ø5x1.5

3938

1

1
2
3
6
7
8
bu
dq

ds
dt
du
A
B
K
L



1

Fa

My Mr



112
±0.02 8H7

50

69

36

62

11
4.

5

22
.5 105

67

85

130

20

85

27
15

.5

53

77

10
9

7.5

12±0.02 12±0.02

39.8

50

40±0.02

67

6252

4x 10h7

6x M6 x10

1.
9

2

37±0.02

37
±0

.0
2

4x M6

2

13
.5

4x 10h7

1.
9

20°

6

4x M3x5

2x M8
DIN 912*

7 8

1

19

37

B` A`

2x M5

4x M10x12

2x 8H7x7.5

1

1

2

Y

B` A`

2x M5

2x 8H7x9

2x M10x15 1

1

2

X

B
A

2x G1/8"

2

X
3

3

Y
35

35

M
5

1.2

Ø
5

Ø
8

O-Ring
Ø5x1.5

3938

1

1
2
3
6
7
8
bu
dq

ds
dt
du
A
B
K
L



1

Fa

My Mr



90

148
±0.02 8H7

84

48
.5

30

15
0

83
.5

96

120

170

10
514

0

35
21

70

110

24

10

16±0.02

51.2

1.
9

2

6x M8 x14

4x 12h7

96

66±0.02

83
.565

84

49±0.02

49
±0

.0
2

4x 12h7

4x M8

16
.5

1.
9

2

20°
140

16±0.02

4x M3x5

2x M10
DIN 912*

7 8

1

6

19

37

B` A`

2x M5

4x M12x15

2x 8H7x10

1

1

2

A

B

X

2x G1/8"

2

Y

B` A`

2x M5

2x M12x15

2x 8H7x10

1

1

2

X
3

3

Y 35

35

M
5

1.2

Ø
5

Ø
8

O-Ring
Ø5x1.5

3938

1

1
2
3
6
7
8
bu
dq

ds
dt
du
A
B
K
L



1

Fa

My Mr



11
4

59

185
±0.02 10H7

105

120

210

10
3.

5

18
6.

5

140

30

43
26

.5

13
1

88

17
4

20±0.0220±0.02

12 62.6

105

120

82.5±0.02

80
.5

10
3.

5

2.
4

2.
5

4x 14h7

6x M10 x18

155

62±0.02

62
±0

.0
2

4x 14h7

4x M10

19
.5

2.
4

2.
5

175

37
.5

20°

4x M3x5

2x M12
DIN 912*

7 8

1

6

19
37

X

B

A

2x G1/4"

2

Y

2x M6

4x M12x18

2x 10H7x11

1

1

2

A`B`

A`B`

2x G1/8"

2x M16x22

2x 10H7x12

1

1

2

X
3

3

Y
35

35

Ø
6

Ø
9

M
6

1.2 O-Ring
Ø6x1.5

3938

1

1
2
3
6
7
8
bu
dq

ds
dt
du
A
B
K
L





4

5

7

6

1 28

3

1

2

3

4

5

6

7

8



1

Fa

My Mr



1

1

2

3

6

7

8

bu

dq

ds

dt

du

A

B

K

L



1

2

3

4

8

9

5

6

bl

7

12



4
5

3 3 4 5 6

7 8 9 9 9

bl

3 4

5
6



1

Fa

My Mr



1

1

2

3

6

7

8

bu

dq

ds

dt

du

A

B

K

L



1

2

3

4

8

9

5

6

7

bl

1 2



4
5

3 3 4 5 6

7 8 9 9 9

bl

3 4

5
6



1

Fa

My Mr



1

1

2

3

6

7

8

bu

dq

ds

dt

du

A

B

K

L



1

2

3

4

89

5

6

7

bl

1 2



4
5

3 3 4 5 6

7 8 9 9 9

bl

3 4

5
6



1



1



1



4

5

2

8
7

3

6

1

1

1

2

3

4

5

6

7

8



1

Fa

My Mr



S

P

8

M5

20

12

16
±0

.0
2

12H7

0.
5

4.
7

12
.6

12

R1.8

6
3

6H7

9

7.5

17

25

22

8

7
11.1

4.
7

12
.6

47
.6

64
.7

50
.6

6.
4

7.
7

90°

24
.5

±
0.

02

29
.5

9
±0.02 3H7

28

19
.8

20
±0.02 3H7

21
12

27
±

0.
02

P = ~ 4.0
S = ~14.5

A`

B`

4xM3x5

2xM5 6

7

2

A

B

4xM3

4xM5

3

2

1

5

9

9

4xM3x3.5

4x 3H7x3.5

3x M4x8

2x 2H7x4

1

1

2x 3H7x5

4x M4x5

1

1

1

1
2
3
5
6
7
9
A
B
K
L



1

Fa

My Mr



S
8

P

M6

30
±0

.0
2

38

15
±0.02 4H7

5
19

66
.7

9.
8

10
.4

62
.2

86
.9

15.7
10

9.7

25.3

33.3

30

8.5

90°

5
19

1

20H7

16

R2

8H7

12

4
8

14.5±0.02

29

18

39

28

34
±0

.0
2

25
18

29
±0.02 4H7

P = ~4.0
S = ~17.0

A`

B`

2xM5

4xM3x5

2

7

6

A

B

1

2

34xM4

2xM5

5

9

9

4xM4x6

4x 4H7x6

4H7x6

4x M5x8

1

1

4x M5x8

2x 4H7x61

1

1

1
2
3
5
6
7
9
A
B
K
L



1

Fa

My Mr



S

32.3

44.3

9.
8

P

M8

40

15

20±0.02

7.
5

18
.5

1.
5

20H7

10H7

16

20

R2

10
5

13
.8

79
.2

12
.4

90°

5
24

.5

74
.2

10
5.

4

21.2
12

40

11.7

9 16
±0.02 5H7

49
±

0.
02

40
.5

50

34
.4

40
  ± 0.02 4H7

15
37

44
.5

±
0.

02

P = ~ 7.5
S = ~25.5

A`

B`

4xM3x5

2xM5 2

7

6

A

B

4xM5

2xG1/8"

3

2

1

5

9

9

4x 5H7x7

4xM5x8

4x M5x6

4H7x61

1

2x 4H7x6

4x M5x8

1

1

1

7.
5

18
.5

5
24

.549
.2

80
.4

54
.2

13
.8

12
.4

90°

24
±

0.
02

15
.5

19
.5

±
0.

02

12
15

B`
A`

**

A

B

1
2
3
5
6
7
9
A
B
K
L



1

Fa

My Mr



S
11

.8

P

39.4

59.4

M10

25±0.02

25

50

8
34

25H7

2

R3.5

29

14H7

20

14
7

13.5

50

14

50

15.6

28.5

17
19

10
8.

5

5.
5

39
.535

17

10
1

14
4.

5

90°

60
.5

74
±

0.
02

19
±0.02 5H7

33.3

65

39
.4

50
±0.02 6H7

17
35

34
.5

±
0.

02

P = ~ 6.0

S = ~28.0

A`

B`

2xM5 26

4xM3x5

7

A

B

1

2

3

4xM8

2xG1/8"

6H7x6

4x M6x8

1

1

5

4xM6
DIN7984

4xM5x7

4x 5H7x6

9

9

1

2x 6H7x6

4x M8x10

1

1

1

1
2
3
5
6
7
9
A
B
K
L



1

Fa

My Mr



S

47

72

32±0.02

64

30

8
58

16H7

25

14
8

R3.5

30

2

30H7

11
.8

P

M12

88
.5

±
0.

02

71
.5

41.3

23
±0.02 6H7

16

19.5

62

64

14

55
25

12
0.

5

17
2

34.5

90° 19
24

12
9

8
45

79

49
.4

64
  ± 0.02 6H7

55
25

67
.5

±
0.

02

P = ~ 8.0

S = ~32.0

A`

B`

2xM5
6

2

4xM3x5

7

A

B

4xM8

2xG1/8"

1

2

3

5

4xM8
DIN912*

4x 6H7x9

4xM6x10

9

9

1

6H7x8

4x M8x10

1

1

2x 6H7x8

4x M10x12

1

1

1

1
2
3
5
6
7
9
A
B
K
L



1

Fa

My Mr



S

25±0.02

80

40
±0

.0
2 

8H
7

32

20H7

22
.5

±
0.

02

10
25 45

65
12 14

R4

80

28

78

30

90

24

46

90°

12
65

65
2414
6

21
4

15
7

33
24

16
.6

P

M12

100

64

80
±0.02 8H7

65
24

77
±

0.
02

55.8

30H7

3

P = ~ 8.0

S = ~42.0

2

7

2xG1/8"

4x M3x5

6

A`

B`

2xG1/4"

4xM10

2x 6H7 3

3

2

1

A

B

1

5

4xM8
DIN912*

4x M10x15

2x 8H7x12

1

1

4x M10x15

2x 8H7x121

1

1

1
2
3
5
6
7
9
A
B
K
L



1



1

3

2

7

6

9

5

4

8

1

1

2

3

4

5

6

7

8

9



1

Fa

My Mr



3938

M
2.

5

0.8

Ø
2.

5

Ø
4.

5

O-Ring

Ø2.5x1

1

1
2
3
6
7
bu
ds
dt
du
A
B
K
L



1

Fa

My Mr



3938

M
3

0.8

Ø
3

Ø
5

O-Ring

Ø3x1

1

1
2
3
6
7
bu
ds
dt
du
A
B
K
L



1

Fa

My Mr



3938

M
4

1.2

Ø
4

Ø
6

O-Ring

Ø6x1

1

1
2
3
6
7
bu
ds
dt
du
A
B
K
L



1

Fa

My Mr



M
5

1.2

Ø
5

Ø
8

O-Ring
Ø5x1.5

3938

1

1
2
3
6
7
bu
ds
dt
du
A
B
K
L



1

Fa

My Mr



M
5

1.2

Ø
5

Ø
8

O-Ring
Ø5x1.5

3938

1

1
2
3
6
7
bu
ds
dt
du
A
B
K
L



1

Fa

My Mr



Ø
6

Ø
9

M
6

1.2 O-Ring
Ø6x1.5

3938

1

1
2
3
6
7
bu
ds
dt
du
A
B
K
L



1



1



1



1

5

4

6

3

1

2

7

1

1

2

3

4

5

6

7



1



1

1
2
bm
B
L



1



1

1
2
bm
B
L



1



1

1
2
bm
B
L



1



1

1

3

2

4

5

3

2

4

1

0

5

10

15

20

25

30

35

40

45

50

55

7,5 8 8,5 9 9,5 10 10,5 11 11,5 12 12,5 13 13,5 14 14,5 15 15,5 16 16,5 17 17,5 18 18,5 19

      

1

2

3

4

5



1

 



1

1
2
3

cl



1

 



1

1
2
3

cl



1

 



1

1
2
3

cl



1

 



1

1
2
3

cl



1



1

3

1

2

4
5 6

1

1

2

3

4

5

6



1

1

2



1

1

2



1

1

2



1



1



4

1

3

2

1

1
2

3

4



1



1

1
2
dt
du
A
K



1



1

1
2
dt
du
A
K



1



4
2

9

1

5

6

8

7

3

1

1

2

3

4

5

6

7

8

9



1



1

1
2
6
cl
ct
B
L



1



1

1
2
cl
ct
B
L



1



2
7

4

3

6

1

5

1

1

2

3

4

5
6
7



1



1

1
2
6
A
B



1



1

1
2
6
A
B



1



9

3

8

4

2

7

1

5

6

1

1

2

3

4

5

6

7

8

9



1



3

28

1

18

14

35
±0.02 5H7

30°

15
.5

13

70
.1

50

1.
9

2

12x 4h7

18x M 3 x5.5

70
.6

56
.6

19.5

66

11 6

6±0.02 6±0.02

3

50

33 42

B' A'

B A

3

36

2x M3x5

2x M5

7

2

2x M52

2x 5H7x8

3x M6x10 1

6

6x M3x6

6x 2H7x2.53

3

M 
5

1.5

Ø
5

Ø
9

O-Ring
Ø5x2

3938

1

1
2
3
6
7
ct
dr
dt
du
A
B
L
K



1



23

Ø 70
±0.02 Ø6H7

17

34

Ø 85

29
.5

30°

91

79

11
2

Ø 100

Ø
74±0.02

Ø
58

Ø
42±0.02

7.
2

11
2.

5

16x Ø h76

24x M x64 1.
9

2

29.5 88

13

9±0.02 9±0.02

5.5

2

3

1

7

2

B' A'

B
A

3

1

36

2x M3x57

2x G1/8"2

28

2x M52

±0.02 Ø6H7

2x Ø6H7x6 1

3

3

3x M6x8 1

6

16x Ø4H7x5 3

8x M4x8 33

3

M 
5

1.5

Ø
5

Ø
9

O-Ring
Ø5x2

3938

1

1
2
3
6
7
ct
dr
dt
du
A
B
L
K



1



17

38
.5

23

Ø 84±0.1
±0.02 Ø8H7

38

Ø 100

93

13
8

Ø
65

±0
.0

2

Ø
85

Ø
10

5±
0.

02

Ø 150

30°

11
1.

513
8.

5

1010

14 9

10±0.02 10±0.02

8

36

2
1.

9

20x Ø h77

30x M x85

3

36

2x M3x57

2x G1/8"22

B A

3

28

3

20x Ø4H7x53

10x M5x8

2x M52

2x Ø8H7x8 1

3x M8x12 1

6

B' A'

M 
5

1.5

Ø
5

Ø
9

O-Ring
Ø5x2

3938

1

1
2
3
6
7
ct
dr
dt
du
A
B
L
K



1



4

5

1

6

2

7

3

3

3

8

1

1

2

3

4

5

6

7

8



1



12x 4h7

18x M3x4

1.
9

2

13
4.

5

13
6.

5

60

12
3.

5

3
6±0.026±0.02

90

20

0.
5

 5

M3x6.5

11

15°

95

3x120°
30°

91.5

13
.2

58
.3

6 35.6

46
0.02 4H7

1

M5

M5

3628

2

2

3

3

3x M4x9

2x 4H7x6

1

6

1

1
2
3
6
ct
dr



1



2

7

1

6

1

4

3 5

1

1

2

3

4
5

6

7



1



30

34
.5

13
.8

M
5

M10

M3

1

23

2

1

1
2
co



1



10H7

2

46

35

51
.5

30

3x120°

46
.5

M5

1

2

23

3x M5x7 1

M5

1

1
2
co



1



45

58
.5

3x 120 °

78

58
.577

.5

50
.2

15H7

2

G1/8" 2

1

2x M5 24

3x M8x9 1

G1/8" 23

1

1
2
co
cp



1



60

84

3x 120 °

10
7.

5

84

97

72
.8

20H7

2

1

G1/8" 2

3x M10x15 1

G1/8" 23

2x M5 24

1

1
2
co
cp



1



1



1



4

8

3

2

5

1

7

6

1

1

2

3

4

5

6

7

8



1



1

1
2
ep
cp



1



1

4

1

3

2

1

1

2

3

4



1



1

1
2

1

3

4



1



1

1
2

1

3

4



1



1

1
2

1

3

4



1



1

1
2

1

3

4



2



2



2



1

2
3

5

6

4

7

2
1

2

3

4

5

6

7



2

MrMy

Fa



17

4x M52

AB

*A*B

2x M3
DIN 912*

1

3

2x 3H7x5

1

4x M3 2

*A' *B'

A' B'

4x M4x8

2x 3H7x5

4x M3

1

1

2

*A' *B'

A' B'

O°

S~
17

11
.5

20

35
±0.02 ø3H7

18

25

8
48

±0
.0

2

42

35
±0.02 ø3H7

22

25

35
.5

14

P~
4

16

12

8H7

4
8R2

24.8

31.9

27.9

7

10

25.3

33.3

15.7

39

9.7

30

10
6.

7

9.
8

10
.4

90°

14

35
.5

10
2.

2 11
6.

5

12
6.

9

24

28

12

42

38

4x M4

**

16

6
15

5

5

3938

M
3

0.8

Ø
3

Ø
5

O-Ring
Ø3x1

2

1
2
3
5
6
bq
br
bs
dt
du
A
B
K
L
K
L
K
L



2



1

2 3

5

8

4

7

6

2
1

2

3

4

5

6

7

8



2

48

160

320

0

240

400

80

12 24 36 60
0

NC
NO
N

 N

Mx
Mr

My

Fa



4x M52

AB

*A
*B

2x M3
DIN 912*

12x 3H7x5
1

*A' *B'

A' B'

4x M3 2

4x M4x8

2x 3H7x5

4x M3

1

1

2

*A` *B`

A' B'

S 2S 2

24

28

42

14

35
.5

27.9

14

35
.5

48
±0

.0
2

35

18

25

35
±0.02 3H7

20

11
.5

25

22

7

42

94

50

12

31.9

24.8

10
1

4x 5h7

98

10
9

1

6.
512

4 8±0.02

1.
9

2

4x M3 x5

16

N 4N 4

17

38

3

4
X

16

2x M3 19

6

15
5

O°

X 3

3938

M
3

0.8

Ø
3

Ø
5

O-Ring
Ø3x1

2

AB

*A*B
*A` *B`

A' B'

5

25
.5

99

84

32

38
±0

.0
2

5

25
.5

9188

1

1
2
3
4
5
6
bq
br
bs
bu
dt
du
A
B
K
L
K
L
K
L



3



3



3



3



3



3

1 1

2 2

1
2



3
FZ

FY



3

1
2
A
B
K
L



3
FZ

FY



3

1
2
A
B
K
L



3
FZ

FY



3

1
2
A
B
K
L



3
FZ

FY



3

1
2
A
B
K
L



3
FZ

FY



3

1
2
A
B



3
FZ

FY



3

1
2
B
A



3
FZ

FY



3

1
2
A
B



3
FZ

FY



3

1
2
A
B



3
FZ

FY



3

1
2
A
B



3



3



3



1

3

2

4

3

1

2

3

4



3
FZ

FY



YX

3

1
2
A
B
K
L
X
Y



3
FZ

FY



YX

3

1
2
A
B
K
L
X
Y



3



3



3



3

1

2

3

4

5

6

7

8



3



36±0.02

17

~17.9

17

9.3

9
9

4.
6

1.
9

218

17

9

76

34

Ø 28

17
4

5

5

Ø
±0.02 Ø3H7

21

2N9

Ø g68

Ø 12

14 1 18

Ø 28

1
4 2xØ H78 1

2xØ h78 1

2xM5 1

Ø
±0.02 Ø3H7

21

0.
8

30.8

17

~27.5

17

2

3

8

1

1

1

35

A

B

2xM32

11

0°

17

4xM3x48

4xØ3H78

8

8

MSF34_D2

1
2

2xM33

4xØ3H7x488

4xM3x488

2xØ1.53

1

2

3

MSF34_F002

M3x6 8

MSF34S

B

2xM322

A 6

11

3

1
2
3
6
8
bm
bs
dq
A
B



3



36±0.02

20

~16.49.3

20

11
11

22

2xØ H78 1 4.
6

2xM5 1

2xØ h78 1

11

20

40

78

Ø 284
17

Ø
±0.02 Ø3H7

21

5

5

1.
9

2

2N9

18

1

14

Ø 12

Ø g68

Ø 28

1
4

Ø
±0.02 Ø3H7

21

0.
8

20

29.3 ~36.9

20

2

0°
17

0°

A

B

2

8

8

8

3

3

1

1

1

35

A

B

2xM32

11

4xØ3H7x48

4xM3x488

8

MSF40_D2

1 2

2xM33

4xØ3H7x48

4xM3x48

2xØ1.53
1

2

MSF40_F002

M3x6 8

MSF40S

2xM32

6

11

3

1
2
3
6
8
bm
bs
dq
A
B



3



Ø
±0.02 Ø3H7

24

50±0.02

24

~20.69.3

24

2xØ h78 1

2xØ H78 1 4.
6

2xM5 1 1.
9

2

13
13

24

13

44

26

98

17
4

Ø 34

5.
7

5.7

22
.5

Ø g610

Ø 15

3N9

18

Ø 34

1
4

Ø
±0.02 Ø3H7

24

1.
5

1.
2

36.9

24 24

~48.6

0°

2

8

8

3

1

1

1

3511

A

B

2xM322

17
0°

4xM3x48

4xØ3H7x48

8

8

MSF44_D2

1
2

2xM33

4xØ3H7x48

4xM3x48

2xØ1.53
1

2

3

MSF44_F002

M4x7 88

MSF44S

A

B

2xM32

6

11

3

1
2
3
6
8
bm
bs
dq
A
B



3



4

5

3

1

7

2

8
6

3

1

2

3

4

5

6

7

8



3



3



3



0°

60

42
±0

.1

31

~14.513.5

1532

16
16 11

10
11

32

50

9

20
±0.02 Ø 3H7

28.5

40 ± 0.02

60

26

93~7.5

32
5

9

46 25
3.

5
28

~37.5

32

~32

1 352x M5
DIN 7984

A`

B`

2x 4H7x5

2x M6x10

2x M5

1

1

2

12

6

2x M3x4.5

A B

12

2

11 2x M3x4.5

2x M5
12

12

8

8
2x M3x4

2x M3x4

4x 3H7x5

4x M3x5

17

1

1

2x 4H7x6

4x M4x6

±0
.0

2 
Ø

 4
H

7

SF50-90N-C
SF50-180N-C

SF50N-C

3938
M

5

1.2

Ø
5

Ø
8

O-Ring
Ø5x1.5

3

1
2
6
8
bm
bn
bs
dq
dt
du
A
B
K
L



3



0°

60

37

32 15

13.5 ~14.5

3110

42
±0

.0
2

16
16

32

11
10

11

20±0.02

20

9

5038

40±0.02

60

25
3.

5

28.5

93

42

50

26
32

5

63

~7.5

8

28

~47

3132

~32

2x M5
DIN 7984

1 35

A`

B`
4

2

3

1

2x M5

2x M6x10

2x 4H7x5 4x M5 31

1

2

X

2x 3H7x5

2x M5x8

2x M3x3.5

2x M3x3.5

8

8

12

12

17

2x 4H7x6

4x M4x6 1

1

±0
.0

2 
4H

7

2x M3x4.512

6

A B

2x M3x4.5 12

11

22x M5

X

3

1

4

2

4x 2

3

SF50D4-C

SF50-90D4-C
SF50-180D4-C

3938

M
5

1.2

Ø
5

Ø
8

O-Ring
Ø5x1.5

3938

M
5

1.2

Ø
5

Ø
8

O-Ring
Ø5x1.5

3839

Ø
2

0.7

Ø
2

Ø
4

O-Ring
Ø2x1

3

1
2
3
6
8
bm
bn
bs
dq
dt
du
A
B
K
L



3



12.8

36.8

56.5

60

42
±0

.0
2

31

7.
5

28 15

16
16 16

16

20
±0.02 3H7

9

50

60

40 ±0.02

   
   

25

±0
.0

2
 Ø

 4
H

7
3.

5

26

28.5

46.5

136 ~4345.3

46

5
32

9

17

35
12x M5

DIN7984

B

AD C

2x 4H7x5

2x M6x10

2x M5

2x M5

1

1

2

2

266

2x M3x3.5

2x M3x3.5

4x 3H7x5

4x M3x5

2x M3x512
12

12
8

8

+90°

-90 °

0°

4x M4x6

2x 4H7x6

1

1

3938
M

5

1.2

Ø
5

Ø
8

O-Ring
Ø5x1.5

3

1
2
6
8
bn
bs
cr
dq
dt
du
A
B
CD



3



37

56.5

12.8

36.8

60

10

42
±0

.0
2

31

7.
5

1528

16
16

16
16

2x 7H7

2

20

9 20
±0

.0
2

5038

8

28

60

40 ±0.02

   
   

25

±0
.0

2
 Ø

 4
H

7
3.

528.5

42

50

26
32

5

63

136 ~4345.3

46.5

17 +90°

-90 °

0°

35
12x M5

DIN7984

1

3

12

4B

AD C

4x M5

2x M6x10

2x 4H7x52x M5

2x M5

3

1

12

2

266

2x M3x3.5

2x M3x3.5

2x M3x5

2x 3H7x5

2x M5x8

8

8

12

1212 X

2x 4H7x6

4x M4x61

1

X

1

4

3

2

4x 2

3 3938

M
5

1.2

Ø
5

Ø
8

O-Ring
Ø5x1.5

3938

M
5

1.2

Ø
5

Ø
8

O-Ring
Ø5x1.5

3839
Ø

2

0.7

Ø
2

Ø
4

O-Ring
Ø2x1

3

1
2
3
6
8
bn
bs
cr
dq
dt
du
A
B
CD



3



0°

1639

17 ~20

62
±0

.0
2

76

43

22
.5

22
.5

39 13
.5

18
13

.5

74

12

24
±0.02 Ø 4H7

9.
5

45
7

61
.5

35

50

32

120~11

35
5

43

~62~42

39

2x M6
DIN 7984

1 35
2x M3x512

6

A`

B`

2x 5H7x6

2x M8x12

2x M5

1

1

2

A B

2x M3x5

2x G1/8"

12

2

11

17

12

12

8

8
2x M4x5

2x M4x5

4x 4H7x6

4x M5x5.5

1

1

2x 5H7x6

4x M5x7

±0
.0

2 
Ø

 5
H

7

SF74N-C

SF74-90N-C
SF74-180N-C

3938
M

5

1.2

Ø
5

Ø
8

O-Ring
Ø5x1.5

3

1
2
6
8
bm
bn
bs
dq
dt
du
A
B
K
L



3



0°

55

76

45

20 43

62
±0

.0
2

16

17 ~20

22
.5

22
.5

39 13
.5

18
13

.5

24

24±0.02

12

7446

61

120

35

50

35
5

7

72

20
45

34

39

12

~62

4339

~42

2x M6
DIN 7984

1
35

A`

B` 4

2 1

3

2x 5H7x6

2x M8x12

2x M5

4x M5 3
1

1

2

2x M3x512

6

A B

2x G1/8"

2x M3x5 12

2

11

X 2x M4x5

2x M4x52x 5H7x6

2x M6x10

12

128

8

17

2x 5H7x6

4x M5x7

1

1

±0
.0

2 
ø5

H
7

X

4

21

3

4x 2

3

SF74-90D4-C
SF74-180D4-C

SF74D4-C

3938

M
5

1.2

Ø
5

Ø
8

O-Ring
Ø5x1.5

3938

M
5

1.2

Ø
5

Ø
8

O-Ring
Ø5x1.5

3839

Ø
2

0.7

Ø
2

Ø
4

O-Ring
Ø2x1

3

1
2
3
6
8
bm
bn
bs
dq
dt
du
A
B
K
L



3



0°

4320 62

76

17 ~20

55

45

65

1639

22
.5

22
.5

13
.5

18
13

.5

39

24

24 ±0.02

12

46 74

50

35

61

82

45
7

30

5
35

120
~11

36

34

12

~62

4339

~42

2x M6
DIN 7984

1 35
2x M3x512

6

A`

B` 4

6 2 1 5

3

6x M5
2x M8x12

2x 5H7x6

2x M52

1

1
3

A B

2x M3x5 12

2

11

2x G1/8"
X

2x 5H7x6

2x M6x12

2x M4x5

2x M4x5

12

12

8

8

17

2x 5H7x6

4x M5x7

1

1

±0
.0

2 
5H

7

X

1

5

3 6

4

2

6x 2

3

SF74-90D6-C
SF74-180D6-C

SF74D6-C

3938

M
5

1.2

Ø
5

Ø
8

O-Ring
Ø5x1.5

3938

M
5

1.2

Ø
5

Ø
8

O-Ring
Ø5x1.5

3839

Ø
2

0.7

Ø
2

Ø
4

O-Ring
Ø2x1

3

1
2
3
6
8
bm
bn
bs
dq
dt
du
A
B
K
L



3



72

15.3

45.8

76

62
±0

.0
2

4539

7.
5

16

22
.5

22
.5

22
.5

22
.5

24
±0.02 4H7

12

74

45
7

9.
5

61
.5

32

60

17555.5 ~53

   
 

35

±0
.0

2
 Ø

 5
H

7

5

50

35

17
+90°

-90 °

0°

35
12x M6

DIN7984

B

ACD

2x 5H7x6

2x M8x12

2x M5

2x M5

2

2

1

1

2x M4x5

2x M4x5

2x M3x5

4x 4H7x6

4x M5x5.5 12

1212

8

8

4x M5x7

2x 5H7x6

1

1

266

3938
M

5

1.2

Ø
5

Ø
8

O-Ring
Ø5x1.5

3

1
2
6
8
bn
bs
cr
dq
dt
du
A
B
CD



3



3938

M
5

1.2

Ø
5

Ø
8

O-Ring
Ø5x1.5

3938

M
5

1.2

Ø
5

Ø
8

O-Ring
Ø5x1.5

3839
Ø

2

0.7

Ø
2

Ø
4

O-Ring
Ø2x1

3

1
2
3
6
8
bn
bs
cr
dq
dt
du
A
B
CD



3



55

45

65

15.3

45.8 76

20 45

62
±0

.0
2

16

7.
5

72

22
.5

22
.5

22
.5

22
.5

39

2x 10H7 1.
5

24
±0

.0
2

24

7446

12

   
  

35

±0
.0

2
 Ø

 5
H

7

5

45
7

30

82

61

175 ~5355.5

60

50

35

12

34 36

17
+90°

-90 °

0°

2x M6
DIN7984

1
35

6 26

3

1 526

4B

ACD

6x M5

2x M8x12

2x 5H7x6
2x M5

2x M52

2

1

1

3

2x M4x5

2x 5H7x6

2x M6x12
2x M4x5

12

12
8

8

X2x M3x512

4x M5x7

2x 5H7x6

1

1

1

2

3

4

5

6

X

6x 2

3

3938

M
5

1.2

Ø
5

Ø
8

O-Ring
Ø5x1.5

3938

M
5

1.2

Ø
5

Ø
8

O-Ring
Ø5x1.5

3839
Ø

2

0.7

Ø
2

Ø
4

O-Ring
Ø2x1

3

1
2
3
6
8
bn
bs
cr
dq
dt
du
A
B
CD



3



0°

100

126 ± 0.02

80
 ±

 0
.0

2

59

~2626

3053

29
.5

29
.5

18
.5

22
18

.5

53

10
0

30
±0.02 Ø 6H7

44
7.

511

81

11
59

48

54

41.8

174~13

15

59

~88~54

53

2x M8
DIN 912*

1 35

2x M4x6

2x M4x6
4x 6H7x6

4x M5x7.5

12

12
8

8

17

2x 6H7x6

4x M6x9

1

1

±0
.0

2 
Ø

 6
H

7

A`

B`

4x 6H7x8

2x M10x12

2x G1/8"2

1

1

A B

2x M3x5

2x G1/8"2

12

11
2x M3x512

6

SF100N-C

SF100-90N-C
SF100-180N-C

3938
G

1/
8”

1.2

Ø
9

Ø
12

O-Ring
Ø9x1.5

3

1
2
6
8
bm
bn
bs
dq
dt
du
A
B
K
L



3



0°

65

100

126 ± 0.02

80
 ±

 0
.0

2

59

10

3053

26 ~26

29
.5

29
.5

53 18
.5

22
18

.5

42

16

10
030

30 ± 0.02

64

15

59
23

11

93

54

44
7.

5

48

80

174
~13

~88

5953

~54

2x M8
DIN 912*

35
1

B`

A`

4

2

3

1

2x G1/8"

4x 6H7x8

2x M10x12 4x M5 3

1

1

2

2x M3x512

6

A B

2x M3x5

2x G1/8"2

12

11

X

17

2x M4x6

2x M4x6
2x M8x12

2x 6H7x78

8

12

12

2x 6H7x6

4x M6x9

1

1

±0
.0

2 
Ø

 6
H

7

X

4

21

3

4x 3.3

3

SF100D4-C

SF100-90D4-C
SF100-180D4-C

3938

G
1/

8”

1.2

Ø
9

Ø
12

O-Ring
Ø9x1.5

3938

M
5

1.2

Ø
5

Ø
8

O-Ring
Ø5x1.5

3839

Ø
3.

3

0.7

Ø
3.

3

Ø
5

O-Ring
Ø3x1

3

1
2
3
6
8
bm
bn
bs
dq
dt
du
A
B
K
L



3



0°

42

45

29
.5

29
.5

53 18
.5

22
18

.5

65

78

26 ~26

126 ± 0.02

100

80
 ±

 0
.0

2

59

10

3053

30

30 ± 0.02

15

10
0

64

54

4811
59

35

80

44
7.

5

174
~13

10
5

16

~88

59

~56

53

352x M8
DIN 912*

1

B`

A`

4

26

3

1 5

6x M5

2x G1/8"

4x 6H7x8

2x M10x12

1

1
3

2

6

2x M3x512

A B

11

2x G1/8"2

2x M3x5 12

X 2x M4x6

2x M4x6
2x 6H7x7

2x M8x12

12

12
8

8

17

2x 6H7x6

4x M6x9

1

1

±0
.0

2 
Ø

 6
H

7

6x 3.3

3

X

4

2

65

1

3

SF100D6-C

SF100-90D6-C
SF100-180D6-C

3938

G
1/

8”

1.2

Ø
9

Ø
12

O-Ring
Ø9x1.5

3938

M
5

1.2

Ø
5

Ø
8

O-Ring
Ø5x1.5

3839

Ø
3.

3

0.7

Ø
3.

3

Ø
5

O-Ring
Ø3x1

3

1
2
3
6
8
bm
bn
bs
dq
dt
du
A
B
K
L



3



3938
G

1/
8”

1.2

Ø
9

Ø
12

O-Ring
Ø9x1.5

3

1
2
6
8
bn
bs
cr
dq
dt
du
A
B
CD



3



18.5

59.5

96

65

100

126±0.02

61

80
±0

.0
2

10

53

15

30

29
.5

29
.5

29
.5

29
.5

10
0

64

30

15

   
   

44

±0
.0

2
 Ø

 6
H

7

7.
5

23

93

11
59

69.5 244

80

87

~60

48

54

30
±0

.0
2

42

16

17
+90°

-90 °

0°

135 2x M8
DIN912*

D C

B

A

4

2

3

1

4x 6H7x8

2x M10x12

4x M5

2x G1/8"

2x G1/8"

3

1

1
2

2

266

2x M4x6

2x M4x6
2x M3x5

2x M8x12

2x 6H7x7

12

12
12

8

8

X

4x M6x9

2x 6H7x6

1

1

X

42

1 3

4x 3.3 3

3938

G
1/

8”

1.2

Ø
9

Ø
12

O-Ring
Ø9x1.5

3938

M
5

1.2

Ø
5

Ø
8

O-Ring
Ø5x1.5

3839
Ø

3.
3

0.7

Ø
3.

3

Ø
5

O-Ring
Ø3x1

3

1
2
3
6
8
bn
bs
cr
dq
dt
du
A
B
CD



3



18.5

59.5

96

126±0.02

100

78

65

80

61
±0

.0
2

10

53

15

30

29
.5

29
.5

29
.5

29
.5

30

15

30
±0

.0
2

10
0

64

54

48

80

87

244 ~6069.5

10
5

11
59

35    
   

44

±0
.0

2
 Ø

 6
H

7

7.
5

4542

16

17
+90°

-90 °

0°

35 12x M8
DIN912*

3

1 5

4

26

B

AD C

2x G1/8"

2x G1/8"

6x M5

4x 6H7x8

2x M10x12

3

2

2

1

1

2x M4x6

2x M4x6

2x 6H7x7

2x M8x12

2x M3x5

12

12

8

8

12

X

2x 6H7x6

4x M6x91

1

26
6

X

4

6

2

1

5

3

6x 3.3 3

3938

G
1/

8”

1.2

Ø
9

Ø
12

O-Ring
Ø9x1.5

3938

M
5

1.2

Ø
5

Ø
8

O-Ring
Ø5x1.5

3839
Ø

3.
3

0.7

Ø
3.

3

Ø
5

O-Ring
Ø3x1

3

1
2
3
6
8
bn
bs
cr
dq
dt
du
A
B
CD



3



40 73 96

34

144±0.02

170

~25

39
.5

35
.5

12
.5

50

±0
.0

2 
Ø

8H
7

130

12
5

±0
.0

2 
Ø

8
H

7
66

±0.02 Ø8 H7
66

Ø 26

75
25

15

11
5

230

14
.5

1616

64
.5

67

67

26
.5

26
22

.5

Ø124
~21

67

~135

11

34

4x Ø8 H7x108

4x M8 x108

8

8

17
0°

2x M6x8 12

2x M6x8 1212

12

2x Ø8 H7x101

4x M8 x121 2x M10
DIN 912 *

1

1 2x M5x7 1616

±0
.0

2 
Ø

8H
7

2x G1/4"2

4x M8 x121

2x Ø8 H7x8
 

11

1

2

A'

B'

2x G1/4" 22

A B

2x M5x7 1515
11

6

A'

B'

2x G1/8" 22

35

SF125N-C

SF125-90N-C
SF125-180N-C

3938

G
1/

4”

1.2

Ø
13

Ø
16

O-Ring
Ø13x1.5

3

1
2
6
8
bm
bn
bq
br
bs
dp
dq
dt
du
A
B
K
L



3



1516

12

124x ø8H7x10

4x M8x10

8

8

17
0

3

2x M6x8

2x M6x8

2x ø8H7x10

4x M8x12
2x M10
DIN 912*

1
1

1 2x M5x7

2x G1/4"

4x M8x12

2x ø8H7x81

1

2

A'

B'

4xG1/8"

1 2

3 4

3

A'

B'

2x G1/8" 2

1 2

3 4

4x G1/8"

3

35

2x G1/4"

11

2

A B

2x M5x7

6

34

4x ø4.2

1

23

4

42

68

82

18 73

~25

144±0.02

34

170

40

39
.5

35
.5

50
12

.5130 67

26
.5

26
22

.5

66
±0.02  8H7

66
±0

.0
2 

 8
H

7

26

12
5

10

75
40

15

230

66

80

65
96

14
.5

16

64
.5

16

67

124

13
0

45°45°

~21

67

~135

X

0.
02

 ø
8H

7

X

SF125D4-C

SF125-90D4-C
SF125-180D4-C

3938

G
1/

4”

1.2

Ø
13

Ø
16

O-Ring
Ø13x1.5

3938

G
1/

8”

1.2

Ø
9

Ø
12

O-Ring
Ø9x1.5

39 38

Ø
4.

2

1.2

Ø
4.

2

Ø
7

O-Ring
Ø4x1.5

3

1
2
3
6
8
bm
bn
bq
br
bs
dp
dq
dt
du
A
B
K
L



3



1516

12

124x ø8H7x10

4x M8x10

8

8

17
0

3

2x M6x8

2x M6x8

2x ø8H7x10

4x M8x12

2x M10
DIN 912*

1

1

1

2x M5x7

6
2x G1/4"

11

2

A B

2x M5x7

2x G1/4"

4x M8x12

2x ø8H7x81

1

2

A'

B'

8xG1/8"

1 2

3 4

3

5 6

87

A'

B'

2x G1/8" 2

1 2

3 4

8x G1/8" 3

5 6

87

35

34

8x 4.2

1

2

3
4

5

6

8
7

42

68

82

114

128
34

40

144±0.02

170

18 9673

~25

39
.5

35
.5

130

50
12

.5

26
.5

26
22

.5

67

66
±0

.0
2 

ø8
H

7

66
±0.02 ø8H7

12
5

66
110

80

124

10

6575
71

15

230~21

67

14
.5

64
.5

45° 45°

16

16

26

124

16
1

~135

67

X

0.
02

 ø
8H

7

X

SF125-90D8-C
SF125-180D8-C

SF125D8-C
3938

G
1/

4”

1.2

Ø
13

Ø
16

O-Ring
Ø13x1.5

3938

G
1/

8”

1.2

Ø
9

Ø
12

O-Ring
Ø9x1.5

39 38

Ø
4.

2

1.2

Ø
4.

2

Ø
7

O-Ring
Ø4x1.5

3

1
2
3
6
8
bm
bn
bq
br
bs
dp
dq
dt
du
A
B
K
L



3



6080 40

22

58.5

104

170

144±0.02

9673

~45

67

35
.5

39
.5

73

50
   

   
 ±

0.
02

 8
H

7
12

.5 130

64
.8 87 35

.5
39

.5

67

66
±0

.0
2 

ø8
H

7

66
±0.02 ø8H7

26

10
9

12
5

10

22

46.5

58.5

16

16

70 230

124

14
.5

64
.5

16

75
25

15

11
5

~16

0°

+90°

-90 °

17

19

5

4x M8x12

2x M10
DIN912*

2x 8H7x10

1

1

1
2x G1/8"

6

A

BF

E

D
C

4x M8x12

2x 8H7x8

1

1

4x M5

2x G1/4"

2

2

35
2x M4x6

4x 8H7x10

4x M8x10

8

8

12

A`

B`
F`D` E`C`

4x M5

2x G1/8" 2

2

35

3938

G
1/

4”

1.2

Ø
13

Ø
16

O-Ring
Ø13x1.5

3

1
2
5
6
8
bn
bs
bu
dq
dt
du
A
B
K
L
CDEF
MNOP



3



42

104 82

68

144
±0.02 8H7

170

22

58.5

406080 67 9618 73

~45

64
.8

130

12
.5

50
   

   
±0

.0
2 

8H
7

39
.5

35
.5

73 67

39
.5

35
.5

66
±0.02 ø8H7

26

66
±0

.0
2 

ø8
H

7

75

16

10

16

13
0

40
15

70 230

65

14
.5

124

66

80

1610

22

46.5

58.5

10
4.

5
10

9

12
5

45°45°

64
.5

~16

0°

+90°

-90 °

17

35

X
4x 8H7x10

4x M8x10

8

8

2x M4x6 12

DIN912*
2x M10

8H7x102x

4x M8x12

1

1

1

5

19

4x M5

2x G1/4"

F

E

D

C
A

B
1

3

2

4

2

2

4x G1/8" 3

4x M8x12

8H7x82x 

1

1

2x G1/8"

6

1

4

2

3

1

A`

B`
F` D` E` C`

35

2x G1/8"

4x G1/8"

4x M5 2

2

3

X

4.24x 3

2

3 4

3938

G
1/

4”

1.2

Ø
13

Ø
16

O-Ring
Ø13x1.5

3938

G
1/

8”

1.2

Ø
9

Ø
12

O-Ring
Ø9x1.5

39 38

Ø
4.

2

1.2

Ø
4.

2

Ø
7

O-Ring
Ø4x1.5

3

1
2
3
5
6
8
bn
bs
bu
dq
dt
du
A
B
K
L
CDEF
MNOP



3



42

68

114

144

170

82

128

22

58.5

60 4080 67 18 73 96

~45104

35
.5

39
.5

73 130

12
.5

50
   

  ±
0.

02
 ø

8H
7

64
.8

13
3

67

39
.5

35
.5

66
±0.02 ø8H7

26

66
±0

.0
2 

ø8
H

7

10
9

8x 45°

66

80

110

124

16

16

10

22

46.5

58.5

16 10

64
.5

75
71

15

16
1

122.37

23070

~16

14
.5

65

17

2x M10
DIN912*

2x 8H7x10

4x M8x12

1

1

1
5

19

F

E

D

C

A

B

7 3

15 2 6

4 8

8xG1/8"

4x M8x12

2x 8H7x8

2x G1/4"

4x M5

3

2

1

1

2

4x 8H7x10

4x M8x10

8

8

2x M4x6 12

X

0°

+90°

-90 °

35

F` D` E` C`

A`

B`5 1

7 3 4 8

62

8x G1/8"

2x G1/8"

4x M5
3

2

2

35

2x G1/8"

6

5
8

7

2
1

4

3

6

X

8x 4.23

3938

G
1/

4”

1.2

Ø
13

Ø
16

O-Ring
Ø13x1.5

3938

G
1/

8”

1.2

Ø
9

Ø
12

O-Ring
Ø9x1.5

39 38

Ø
4.

2

1.2

Ø
4.

2

Ø
7

O-Ring
Ø4x1.5

3

1
2
3
5
6
8
bn
bs
bu
dq
dt
du
A
B
K
L
CDEF
MNOP



3



4x Ø10H7 x12

4x M10x15

8

8

17
0

2x M8x12

2x M8x12 12

12

2x Ø8H7 x8

4x M10x15

2x M10
DIN 912*

1
1

1

2x M5x6 16

2x G1/4"

11

2

A B

2x M5x6 15

6

2x G1/4"

4x M10x15

2x Ø10H7 x121

1

2

A'

B'

A'

B'

2x G1/8" 2

35

240 ±0.02

200

60 12
0

80

38

90

45
39

~24

160
±0.02 Ø8H7

42
±0

.0
2

9.
5

65

80

32
26

26

90
±0

.0
2 

Ø
10

H
7

90
±0.02 Ø10H7

Ø40

15
5

18.5

74
.5

15
.5

18.5

301
~16

84
26

20

13
0

Ø154

34

~142

80

SF155-90N-C
SF155-180N-C

SF155N-C

3938

G
1/

4”

1.2

Ø
13

Ø
16

O-Ring
Ø13x1.5

3

1
2
6
8
bm
bn
bq
br
bs
dp
dq
dt
du
A
B
K
L



3



1

1

1

16

2x ø8H7x8

4x M10x15

2x M10
DIN 912*

2x M5x6

2x G1/4"

4x M10x15

2x ø10H7x121

1

2

A'

B'

4xG1/8"

1 2

3 4

3

6

2x G1/4"

11

2

A B

2x M5x6 15

4x ø10H7x12

4x M10x15

8

8

0

2x M8x12

2x M8x12 12

12

A'

B'

2x G1/8"

1 2

3 4

4x G1/8"

35

2

34

4x ø4.2

1

23

4

X

3

56

6080

90

106

200

 240 0.02

20

90 12
0

38 ~24

45
39

160
±0.02  8H7

9.
5

65

42
±0

.0
2

80 32
26

26

90
±0

.0
2 

ø1
0H

7

90
±0.02 ø10H7

40

15
5

90

106
~16

18.5

18.5

15
.5

10

74
.5

7484
40

20

14
4

154

45°45°

301

~142

80

X

17

3

SF155-90D4-C
SF155-180D4-C

SF155D4-C
3938

G
1/

4”

1.2

Ø
13

Ø
16

O-Ring
Ø13x1.5

3938

G
1/

8”

1.2

Ø
9

Ø
12

O-Ring
Ø9x1.5

39 38

Ø
4.

2

1.2

Ø
4.

2

Ø
7

O-Ring
Ø4x1.5

3

1
2
3
6
8
bm
bn
bq
br
bs
dp
dq
dt
du
A
B
K
L



3



1
1

1

16

2

15

8

8

12

2x ø8H7x8

4x M10x15

2x M10
DIN 912*

2x M5x6

2x G1/4"

4x M10x15

2x ø10H7x121

1

2

A'
B'

8xG1/8"

1 2

3 4

3

5 6

87

2x G1/4"

11

A B

2x M5x6

6

4x ø10H7x12

4x M10x15

0

2x M8x12

2x M8x12 12

17

A'

B'

2x G1/8"

1 2

3 4

8x G1/8"

35

2

3

5 6

7 8

34

8x 4.2

1

2

3
4

3
5

6

8
7

X

56

90

130

106

146

20

12
0

90

~24
38

6080

200

240±0.02

45
39

160
±0.02 ø8H7 9.

5
65

42
±0

.0
2 80 32

26
26

90
±0

.0
2 

ø1
0H

7

90
±0.02 ø10H7

40

15
5

90

130

106

146

10

7474
.5

84
71

20

18.5

15
.5

18.5

301

154~16

17
5

45°45°

80

~142

X

SF155D8-C

SF155-90D8-C
SF155-180D8-C

3938

G
1/

4”

1.2

Ø
13

Ø
16

O-Ring
Ø13x1.5

3938

G
1/

8”

1.2

Ø
9

Ø
12

O-Ring
Ø9x1.5

39 38

Ø
4.

2

1.2

Ø
4.

2

Ø
7

O-Ring
Ø4x1.5

3

1
2
3
6
8
bm
bn
bq
br
bs
dp
dq
dt
du
A
B
K
L



3



200

12
0

240 ±0.02

118

5810
2

80 60

29

69

90

~33

39
45

90

42
±0

.0
2

65
9.

5 160
±0.02 ø8H7

73
.5 99

80

45
39

90
±0

.0
2 

ø1
0H

7

90
±0.02 ø10H7

40

13
4

15
5

69

52.5

29

12.5

18

74
.5

84
26

20

13
0

18.5

15
.5

80 301

154
18.5

17

4x M10x15

2x 8H7x8

2x M10
DIN912*

1

1

19
1

B

A

E

F

D

C

4x M10x15

2x 10H7x12

4x G1/8"

2x G1/4"

2

2

1

1

2x M4x6

4x 10H7x12

4x M10x15

12

8

8

35

+90°
 
 
0°
 
 
-90 °

F`D` E`C`

A`

B`

4x G1/8"

2x G1/8"

2

2

35

6

2x G1/4"

3938

G
1/

4”

1.2

Ø
13

Ø
16

O-Ring
Ø13x1.5

3

1
2
5
6
8
bn
bs
bu
dq
dt
du
A
B
K
L
CDEF
MNOP



3



56

588010
2

29

69

118

106

200

240 ±0.02

90 ~33

20

90 12
0

45
39

90 160
±0.02 ø8H7

65
9.

5

42
±0

.0
2

73
.5 11

3.
5

45
39

80

15
5

13
4

90
±0

.0
2 

ø8
H

7

40

90
±0.02 ø8H7

90

106

154

18.5

15
.5

74

1018

74
.5

84
40

20

14
4

80

~16

301

18.5

12.5

29

52.5

69

45°45°

+90°
 
 
0°
 
 
-90 °

17

2x M10
DIN912*4x M10x15

2x 8H7x8

1

1

119

3

1

4

2

B

A

E

F

D

C

4x M10x15

2x 10H7x12

4x G1/8"

4x G1/8"

1

1

2

32x G1/4"2

2x M4x6

4x 10H7x20

4x M10x15

35

12

8

8

X

F`D` E`C`

A`

B`1

3 4

2

2x G1/8"

4x G1/8"
4x G1/8" 3

2

2

35

6

2x G1/4"

X

3 4

12

4x 4.2

3

3938

G
1/

4”

1.2

Ø
13

Ø
16

O-Ring
Ø13x1.5

3938

G
1/

8”

1.2

Ø
9

Ø
12

O-Ring
Ø9x1.5

39 38

Ø
4.

2

1.2

Ø
4.

2

Ø
7

O-Ring
Ø4x1.5

3

1
2
3
5
6
8
bn
bs
bu
dq
dt
du
A
B
K
L
CDEF
MNOP



3



56

45
39

90

130

146

106

20

90 12
0

~33118

29

69

5810
2

6080

200

240 ±0.02

90

42
±0

.0
2

65
9.

5

73
.5

14
4

160
±0.02 ø8H7

45
39

80

90
±0

.0
2 

ø8
H

7

13
4

90
±0.02 ø10H7

40

15
5

90

130

106

146

18.5

18.5

301

154

80

~16

18 10

74
.5 74

15
.5

84
71

20

17
5

12.5

29

52.5

69

8x 45°

17

19

4x M10x15

2x 8H7x8

1

1

2x M10
DIN912*

1

6

2x G1/4"

F

E

D

C

A

B

7 3

15

4 8

62

4x G1/8"

2x G1/4"

4x M10x15

2x 10H7x12

8x G1/8"

1

1

32

2

4x 10H7x20

4x M10x15

2x M4x6

8

8

12
35

X

+90°
 
 
0°
 
 
-90 °

F`D` E`C`

A`

B`2 6

4 8

15

7 3

8x G1/8"

2x G1/8"

4x G1/8"2

3

2

35

5
8

7

2

1

4

3

6

8x 4.2

3

X

3938

G
1/

4”

1.2

Ø
13

Ø
16

O-Ring
Ø13x1.5

3938

G
1/

8”

1.2

Ø
9

Ø
12

O-Ring
Ø9x1.5

39 38

Ø
4.

2

1.2

Ø
4.

2

Ø
7

O-Ring
Ø4x1.5

3

1
2
3
5
6
8
bn
bs
bu
dq
dt
du
A
B
K
L
CDEF
MNOP



3



17

2x ø10H7x8

4x M12x18

2x M12
DIN 912*

1
1

1

2x M5x10 16

2x G1/4"

4x M12x18

2x ø10H7x101

1

2

A'

B'

6

2x G1/4"

11

2

A B

2x M5x10 15

4x ø10H7x10

4x M12x15

8

8

0

2x M8x12

2x M8x12 12

12

A'

B'

2x G1/8" 2

35

34

200
±0.02 ø10H7

240

80

40

14
0

11
0

~27

57
57

160
±0.02 ø10H757

±0
.0

2

17
80

39
36

39

100

19
5

12
0

±0
.0

2 
ø1

0H
7

120
±0.02 ø10H7

40

11
4

26
22

16
2

~19

324

194

20.5

17
80

10
0

10
0

~153

SF195N-C

SF195-90N-C
SF195-180N-C

3938

G
1/

4”

1.2

Ø
13

Ø
16

O-Ring
Ø13x1.5

3

1
2
6
8
bm
bn
bq
br
bs
dp
dq
dt
du
A
B
K
L



3



1
1

1

2

1516

4x ø10H7x10

4x M12x15

8

8

17
0

2x M8x12

2x M8x12 12

12

2x ø10H7x8

4x M12x18

2x M12
DIN 912*

2x M5x10

2x G1/4"

4x M12x18

2x ø10H7x101

1

2

A'

B'

4xG1/8"

1 2

3 4

3

2x G1/4"

11

A B

2x M5x10

6

A'

B'

2x G1/8" 2

35

1 2

3 4

4x G1/8"

3

34

4x 5

1

23

4

3 56

100

116

200
±0.02 ø10H7

240

80 11
0

14
0

~27
40

57
57

57
±0

.0
2 160

±0.02 ø10H7 17
80

39
36

39

12
0

±0
.0

2 
ø1

0H
7

120
±0.02 ø10H7

19
5

40

11
4

40
22

17
6

~19
324

194

100

116

10

97

17

20.5

80
20

100

45°45°

10
0

~153

10
0

X

X

SF195D4-C

SF195-90D4-C
SF195-180D4-C

3938

G
1/

4”

1.2

Ø
13

Ø
16

O-Ring
Ø13x1.5

3938

G
1/

8”

1.2

Ø
9

Ø
12

O-Ring
Ø9x1.5

39 38

Ø
5

1.2

Ø
5

Ø
8

O-Ring
Ø5x1.5

3

1
2
6
8
bm
bn
bq
br
bs
dp
dq
dt
du
A
B
K
L



3



4x ø10H7x10

4x M12x15

8

8

17

2x M8x12

2x M8x12 12

12

2x ø10H7x8

4x M12x18

2x M12
DIN 912*

1
1

1

2x M5x10 16

2x G1/4"

4x M12x18

2x ø10H7x101

1

2

A'

B'

0

8xG1/8" 3

1 2

3 4

5 6

87

2x G1/4"

11

2

A B

2x M5x10 15

6

B'

2x G1/8" 2

35

8x G1/8"

3

1 2

3 4

5 6

7 8 A'

34

8x ø5

3

X

1

2

3
4

5

6

8
7

56

100
140

116
156

20

11
0

14
0

200±0.02

240

80

40

57
±0

.0
2 160

±0.02 ø10H7 17
80

40
120

±0.02 ø10H7

19
5

12
0

±0
.0

2 
ø1

0H
7

57
57

100
140

116
156

11
4

71
22

10
97

17
80

20.5

194
324

20
7

~27

39
36

100

39

45°45°

~19

10
0

~153

10
0

X

SF195-90D8-C
SF195-180D8-C

SF195D8-C

3938

G
1/

4”

1.2

Ø
13

Ø
16

O-Ring
Ø13x1.5

3938

G
1/

8”

1.2

Ø
9

Ø
12

O-Ring
Ø9x1.5

39 38

Ø
5

1.2

Ø
5

Ø
8

O-Ring
Ø5x1.5

3

1
2
6
8
bm
bn
bq
br
bs
dp
dq
dt
du
A
B
K
L



3



608014
0

36

79

135

14
0

11
0

200
±0.02 10H7

240

~61

57
57

110

57
±0

.0
2

80
17 160

±0.02 ø10H7

10
1.

5

12
9

57
57

100

19
5

12
0

±0
.0

2 
ø1

0H
7

120
±0.02 ø10H7

40

17
4

19.5

36

62.5

79

22

11
4

26
22

16
2 80

20.5

17

32495

194~18

17

4x M12x18

2x 10H7x8

2x M12
DIN912*

11

1

19

6

2x G1/4"

B

A

E

F

D

C

2x 10H7x10

4x M12x18

2x G1/4"

4x G1/8"

1

1

2

2

4x 10H7x10

4x M12x15

8

8

2x M4x7 1235

+90°
 
 
0°
 
 
-90 °

F`D` E`F`
B`

A`

4x G1/8"

2x G1/4"

2

2

35

3938

G
1/

4”

1.2

Ø
13

Ø
16

O-Ring
Ø13x1.5

3

1
2
5
6
8
bn
bs
bu
dq
dt
du
A
B
K
L
CDEF
MNOP



3



56

116

100

20

14
0

11
0

80 6014
0

10
0

135

36

79

~61

240

200
±0.02 ø10H7

57
57

110

57
±0

.0
217

80

10
1.

5

14
3.

5

160
±0.02 10H7

57
57

100

19
5

120
±0.02 ø10H7

12
0

±0
.0

2 
ø1

0H
7

40

17
4

45°45°

19.5

36

62.5

79

22 10

11
4

80
17

97

40
22

17
6

100

116 20.5

194

32495

~18

17

2x 10H7x8

4x M12x18

1

1 19 2x M12
DIN912*

1

E

F

D

C

A

B
3

1 2

4

2x 10H7x10

4x M12x18

4x G1/8"2x G1/4"

4x G1/8"

1

1

2

2 3

2x G1/4"
6

4x 10H7x20

4x M12x15

2x M4x7 12

8

8

35

X

+90°
 
 
0°
 
 
-90 °

F`D` E`C`
B`

A`

1

3

2

4

2x G1/4"

4x G1/8"

4x G1/8"

35

2

2

3

4x 4x23

X

4

12

3

3938

G
1/

4”

1.2

Ø
13

Ø
16

O-Ring
Ø13x1.5

3938

G
1/

8”

1.2

Ø
9

Ø
12

O-Ring
Ø9x1.5

39 38

Ø
5

1.2

Ø
5

Ø
8

O-Ring
Ø5x1.5

3

1
2
3
5
6
8
bn
bs
bu
dq
dt
du
A
B
K
L
CDEF
MNOP



3



56

100

116

140

156

200
±0.02 ø10H7

240

135

36

79

80 6014
0

14
0

20

11
0

10
0

57
57

160
±0.02 ø10H7

100

57
57

110

19
5

40

~61

100

140

116

156

20.5

1710

97

22

11
4

71
22

20
7

194

32495

19.5

36

62.5

79

57
±0

.0
217

80

10
1.

5 17
4

17
4

12
0

±0
.0

2 
ø1

0H
7

120
±0.02 ø10H7

8x 45°

80

17

2x M12
DIN912*4x M12x18

2x 10H7x8

1
1

1

19

6

2x G1/4"

E

F

D

C

B

A

7 3

5 1

4 8

2 6

2x 10H7x10

4x M12x18

8x G1/8"2x G1/4"

4x G1/8"2

2 3

1

1

4x M12x15

4x 10H7x208

8

X

2x M4x7 1235

+90°
 
 
0°
 
 
-90 °

F`D` E`C`
5 1

7 3

2 6

4 8

B`

A`

4x G1/8"

8x G1/8"

2x G1/4"

35
2

3

2

8

1
2

3

4

5
6

7

8x 4.23

X

3938

G
1/

4”

1.2

Ø
13

Ø
16

O-Ring
Ø13x1.5

3

1
2
3
5
6
8
bn
bs
bu
dq
dt
du
A
B
K
L
CDEF
MNOP



3



3



3



1

2

3

76

4
5

3

1

2

3

4

5

6

7



3



135
±0.02  ø6H7

76

65
25

57
.5

157

10
9

53

30

90
±0.02 ø6H7

57.5

140

(5
2)

45
.4

6x 60°

30°

0.
5

51
.5

62+0.1
  

100

12.5

49
55

LK 90
±0.02  ø5H7

205

14
0

64

X

4x M8x12

2x ø6H7x6 4x M8x11

4x M6
DIN 912 *

1

1

1

4x M8x12

2x ø6H7x8

2x ø5H7x5

6x M5x6

1

1

8

8

22

21

4

1

x

3

41

21

23
.5

1.
5

41

1
4
8
cm
cn
em



3



2

2

M53

21

22

120

~300

~350

70
±0.02 ø5H7

4x M8x12

2x 5H7x6

8

8

±0.02 ø6H7
90

7010
2

14
.5

15

57.5

25
.7

5
±0

.0
2

10
.7

5
30

12.5

25

2x G1/4" x10

4x M8x12

2x ø6H7x8

1

1
4

4x M6
DIN912* 3

1

11
0

29
.5

29
51

.5
0.

5 A

A

4x M8x20

2x 8H7x10

1

1

100

14
0

157

25
65

135

80 77 53

23
.1

57
.5

±0.02

A`

3

41

21

23
.5

1.
5

41

1
2
3
4
8
cm
cn
em



3



165

188
±0.02 ø10H7

217
66.5

84
.6

50
.6

68

30° 30°

14
6.

5

64
.3

283.5

84.6

45

74
.5

(7
5)

125
±0.02 ø8H7

22.1

190

0.
5

6x60°

90+0.2
  

105
±0.02 ø8H7

118

~350

~300

4x M12x184x M12x22

2x 10H7x10

11

1

4x M10
DIN912*

1

22

21

X

4x M10x15

2x ø8H7x10

4

1

1

X

3

28

60

33.5 10

41

1
4
8
cm
cn
em



3



3

28

60

33.5 10

41

1
2
3
4
8
cm
cn
em



3

1 1 2

2 2 3 4 4

4 5 5 6 6

7 7



2

3

4

5

6

7

1

3



3



3



3



3

1
2

3

4

5

6

7



3
5

10

0
0

2.5

7.5

12.5

90

Mr

FA



12.5

7.
8

45
.7

26
.5

26.5

8

10
1.

5

25±0.02

30±0.02

50
±0.02 ø3H7

65

50
±0

.0
2 

ø3
H

7

65

30 ±0
.0

2 
ø3

H
7

37

24±0.02

37 ±0
.0

2 
ø3

H
7

46

46
.5

40
.5

2x 7h7
4x 7H7

4x M5

1.
9

27

12.5

7.
8

45
.7

12
8

13
4

4x M4x8

10x 3H7x8

4x M4
DIN912

8

8

8

X

A

B

2x M5 2

35

37

2x 3H7x41

1

1

X

A`

B`

2x M52

3

1
2
8
dq
ds



3
10

20

0
0

5

15

25

90

Mr

FA



10 2
1.

9 4x M6

2x 8h7
4x 8H7

15

8.
9

52
.3

33

33

10

12
3

46
±0

.0
2 

ø4
H

7
57

46

32±0.02

57

54
.5 50

40

30
±0

.0
2

60
±0

.0
2 

ø4
H

7

75

75

60
±0.02 ø4H7

30±0.02

15

8.
9

52
.3

16
0.

5

15
6

X

2x M5x10

8x 4H7x10

4x M5
DIN912

8

8

8

2x M6x10

2x 5H7x10

8

8

A

B

2x M5 2

35

37

2x 4H7x51

X
1

1

A`

B`

2x M52

3

1
2
8
dq
ds



3

10

20

40

0
0

30

50

90

Mr

FA



18.5

10
.3

67
.2

38

12

38

2x 10h7
4x 10H7

4x M8

1.
9

2

13

15
7

10
0

80
±0

.0
2 

ø5
H

7
60

50
±0

.0
2

40±0.02

50±0.02

80
±0.02 ø5H7

100

70

57

36±0.02

57
±0

.0
2 

ø5
H

7

70

6173

18.5

10
.3

67
.2

20
719

5

X

2x M6x12

8x 5H7x12

4x M6
DIN912

8

8

8

2x 6H7x12

2x M8x12

8

8

2x G1/8" 2

35

37

A

B

2x 5H7x61

1

1

X

A`

B`

2x G1/8"2

3

1
2
8
dq
ds



3
30

60

0
0

15

45

75

90

Mr

FA



17
9

60
±0

.0
2

10
0

±0
.0

2 
ø6

H
7

100
±0.02 ø6H7

60±0.02

80

2.
4

2.
5

16

2x 14h7
4x 14H7

4xM10

65
±0

.0
2 

ø5
H

7

65

21.5

75
.2

12
.1

45

45

120

12
0

81

81

87

14

42±0.02

72

21.5

12
.1

75
.2

23
922

4

X

4x M8
DIN912

4x M8x14

10x 6H7x14

8

8

8

2x G1/8" 2

35

37

A

B

2x 5H7x61

X
1

1

A`

B`

2x G1/8"2

3

1
2
8
dq
ds



3



4

1

3

8

2
5

7
6

3

1

2

3

4

5

6

7

8



3



1040
   

±0
.0

2 
ø4

H
7

22

30±0.02

20 20

31

101

10
1

~14.5

2032

9

20 40
±0

.0
2 

ø5
H

7

50

17

33±0.02

43

54

1815

16

5

35

B`

A`

4 3

2 1

4x M5x6

2x 5H7 x6

1

1

2x M5

2x M5

4x M5

2

3

2

2x M3x4.512

14

2x 4H7

4x M4

1

3

2x 53
2x M3x4.5 12

3x M5x6 8

2x 4H7x6 8

6

4 2

2x 5

3x M5x6

2x 4H7x6

3

8

8

2x 5H7x6

4x M5x6 1

1

M
5

1.2

Ø
5

Ø
8

O-Ring
Ø5x1.5

3938

M
5

1.2

Ø
5

Ø
8

O-Ring
Ø5x1.5

3938

0.7

Ø
5

Ø
7

O-Ring
Ø5x1

3839

Ø
5

3

1
2
3
5
6
8
bn
bp
br
dq
dt
du
A
B
K
L





M
5

1.2

Ø
5

Ø
8

O-Ring
Ø5x1.5

3938

M
5

1.2

Ø
5

Ø
8

O-Ring
Ø5x1.5

3938

0.7

Ø
5

Ø
7

O-Ring
Ø5x1

3839

Ø
5

1
2
3
5
6
8
bn
bp
br
dq
dt
du
A
B
K
L





G
1/

8“

1.2

Ø
9

Ø
12

O-Ring
Ø9x1.5

3938

G
1/

8“

1.2

Ø
9

Ø
12

O-Ring
Ø9x1.5

3938

0.7

Ø
5

Ø
7

O-Ring
Ø5x1

3839

Ø
5

1
2
3
5
6
8
bn
bp
br
dq
dt
du
A
B
K
L



3



60

80±0.02

3010
8

±0
.0

2 
ø8

H
7

40 80

243.3

24
4.

3
67 50

26

10
8

12
5

55

105

126

4080

80±0.02

~25

73

3

1

23

4

2x G1/8"

4x G1/8"

2

3

5

35

A`

B`

1

2

2x ø8H7x12

4x M8x12

2x ø4.2

8

8

6

4x M10x18

2x ø8H7x18

1

1

3 4

4x M8x12

2x ø8H7x12

2x ø4.2 3

8

8

1

3

2

4

2x G1/4"

2x ø8H7x18

4x M10x18

2x G1/4"

4x G1/8"

2

1

1

2

3

A`

B`

A

B

2x ø8H7

4x M8

14 16

G
1/

8“

1.2

Ø
9

Ø
12

O-Ring
Ø9x1.5

3938

G
1/

8“

1.2

Ø
9

Ø
12

O-Ring
Ø9x1.5

3938

0.7

Ø
5

Ø
7

O-Ring
Ø5x1

3839

Ø
5

3

1
2
3
5
6
8
bp
br
dq
dt
du
A
B
K
L



3



12
8

±0
.0

2 
ø8

H
7

40

50 80

50

85±0.02

270.1

27
0.

1

90±0.02

60

125

165

80 50

40 60 12
2

±0
.0

2 
ø1

0H
7

14
7

6580

90

~24

2x G1/8"

2

4

3

1

4x G1/8"

2

3

35

5

A`

B`

2x ø8H7x15.5

4x M10x15.5

2x ø4.2

1

2

8

8

3

6

2x G1/4"

4x G1/8"

2

43

1

2

3

2x ø10H7x21

4x M12x21

1

1

2x G1/4"2

A

B

A`

B`

2x ø8H7x15.5

4x M10x15.5

2x ø4.2

3 4

3

8

8

2x ø10H7x21

4x M12x21

1

1

2x ø8H7

4x M10
14 16

G
1/

8“

1.2

Ø
9

Ø
12

O-Ring
Ø9x1.5

3938

G
1/

8“

1.2

Ø
9

Ø
12

O-Ring
Ø9x1.5

3938

0.7

Ø
5

Ø
7

O-Ring
Ø5x1

3839

Ø
5

3

1
2
3
5
6
8
bp
br
dq
dt
du
A
B
K
L



3



55

105±0.02

50 110

20
20

4017
0

±0
.0

2 
ø1

2H
7

34
3

343

10
0

40

80 17
0

±0
.0

2 
ø1

2H
7

19
5

50110

40354035

180

105±0.02

75

11
0

~27

5 7

6 8

5

35

7

3

5

1

8

4
6

2

8x G1/8"

2x G1/4"

3

2

A`

B`

4x M12x20

2x ø12H7x20

4x ø5 3

8

8

2x ø12H7x21

4x M12x21

1

1

2x ø12H7x20

4x M12x20

4x ø5

8

8

3

6
1

3
2

4

2x ø12H7x21

4x M12x212x G1/4"

8x G1/8"

2x G1/4"

1

1

2

2

3

A

B

A`

B`
8

6

4

2

3

1

7

5

2x ø10H7

4x M12

14 16

G
1/

8“

1.2

Ø
9

Ø
12

O-Ring
Ø9x1.5

3938

G
1/

8“

1.2

Ø
9

Ø
12

O-Ring
Ø9x1.5

3938

0.7

Ø
5

Ø
7

O-Ring
Ø5x1

3839

Ø
5

3

1
2
3
5
6
8
bp
br
dq
dt
du
A
B
K
L



3



3



3



3
1 2

5

8

4
7

6

3

1

2

3

4

5

6

7

8



3
Fa FZ

FD

Mr



Z

Z

M
2.

5x
3

4

4

1

14.89.4

5.5

6470
.5

35
.8

135.2

22 32

45

13 24
      ±0.02 ø3H7

17

R

18

2xM5 2

A

B

4x M4x8

2x 3H7x61

1

A

B

L

8

Y

A`

B`

2xM3 2

12

5

9 0
Z

X

XY

3

1
2
5
8
9
bn
bs
bt
A
B
K
L



3
Fa FZ

FD

Mr



13 27

30
±0

.0
2 

ø4
H

7

40

8  -0
.0

1

2  -0
.0

1

26.5±0.02

45

11
.7

12.5
1

8 10

42

94
.7

5

10
5.

75

M
4x

8

0.
8

10 18

21

2x ø4H7x6

4x M5x7

9
5

12
18

18

2x M52

8

1

1

0°

17

A

B
L R

3

1
2
5
8
9
bs
bn
bt
A
B
K
L



3
Fa FZ

FD

Mr



0

8.3

28

10
  -0

.0
1

3  -0
.0

1

35.5±0.02

90

40
±0

.0
2 

ø8
H

7

20.5 30 30

11.5 24

12
1.

75

11

56

13
8

M
4x

8
1.

2

10

8
12

9

18

18

6x M8x8

2x ø8H7x81

1

2x M5 2

5

0°

17

A

B

L R

3

1
2
5
8
9
bs
bn
bt
A
B
K
L



3



3

1 2

7

8
5

6

4

3

1

2

3

4

5

6

7

8



3
Fa FZ

FD

Mr



B' A'

2xM5

22

78

50

57

78

11
6

32

92

14
.5

15 0.02

32

21.5

4
4

8

55

47

7822
.5

P / S P/S

10
0

21.8

2xM5

17

2

B' A'

7

8x M3x4 7

P = 29.5
S = 39.5

2xM5

4xM5x8

H72x 4 x5

H
7

0.
02

 
4

1

1

2

M5x8

H74x 4 x4

SB50-90-B
SB50-180-B

8

8

2

5

A B

9

10

8x M3x4

0°

H
7

0.
02

 
4

1

1

8

8

4xM5x8

H72x 4 x5

10
011

6

60 32

24
8

22

47

50

22
5

15 0.02

4

4

H72x 4 x4

M5x8

SB50G

3

1
2
5
7
8
9
bl
bs
A
B
K
L



3
Fa FZ

FD

Mr



4x 5H7x6

5

H
7

0.
02

 
5

SB74-90-B
SB74-180-B

B' A'

17

M6x8

2xM5

8

8

2

A B

9

10

8x M3x4

7

0°

2

2xM5

8xM5x8

H72x 5 x6

H
7

0.
02

 
5

1

1

2

B' A' 30

5

60

30

17
9.

5

15
8

39

118

40

25

6

6

56

19
.5

80 9315.7

32

93 10
22 0.02

31

P/S P/S

93

2xM5

8x M3x4 7

P = 29
S = 41

H
7

0.
02

 
5

1

1

8 H72x 5 x6

M6x88

8xM5x8

H72x 5 x6

30
5

60
30

4080

15
817

9.
5

22 0.02

25
10

32

6

6

56

SB74G

3

1
2
5
7
8
9
bl
bs
A
B
K
L



3
Fa FZ

FD

Mr



SB100-90-B
SB100-180-B

A B

0°

17

M8x12

H74x 6 x6

2xG1/8"

8

8

2

5

9

10

8x M3x4

7

2xG1/8"

2

B' A'

2xM58xM6x10

H72x 8 x10

H
7

0.
02

 
8

1

1

2

B' A'

80

120

12

40

7

22
8

20
0

54

142
54

84

8

8

36 30 0.02

110

11

162

142

26

45

142

S S P = 25
S = 40

8x M3x4 7

H
7

0.
02

 
5

1

1

8

8

H72x 6 x6

M8x12

4xM6x10

H72x 8 x10

80

40

110 54

9

9

20
022

8

44

36

11

7

30 0.02

84

SB100G

3

1
2
5
7
8
9
bl
bs
A
B
K
L



3
Fa FZ

FD

Mr



0°

17

4xM8x12

4x 8H7x12

SB150-90
SB150-180

8

8

2

5

A B

9

10

8x M3x4

7

2xG1/4"2

B' A'

4xM10x15

2x 8H7x8

1

1

2xG1/4"

4xM10x15

2x 8H7x8

1

1

2

B' A'

120
±0.02 ø8H7

60
9

29
8

24
8

34
.4

78

200

78

5
5

16.5 61

55 0.02

9
39

±0
.0

2

69
39

±0
.0

2

28.5

31H7x12

195

195

23

19523

32
32

32 32

11
0

P

247

P

150
±0.02 ø8H7

2x G1/4"8x M3x4

7

P = 33.5
S = 58.5

3x M6x1024

1

1

H74x 8 x12

4xM8x12

8

4xM10x15

H72x 8 x8

1

1

8

4xM10x15

H72x 8 x8

180 78

9
60

39
±0

.0
2

H7120 0.02 8

29
8

70

58.5
13

10

9.5

10
5

24
8

9
39

±0
.0

2

69

H7150 0.02 8

55 0.02

28.5

H731  x12

SB150G

3

1
2
5
7
8
9
bl
bs
A
B
K
L



3
Fa FZ

FD

Mr



2xG1/4"

8

8

2

5

A B

9

10

8x M3x47

6x M4x67

2xG1/4"2

B' A'

4xM12x12

2x 10H7x10

1

1

1

1

2

B' A'

277

27

80
0.02 10H7

49
±0

.0
2

200
±0.02 ø10H7

70
14

1427

49
±0

.0
2

84

35
4

160
±0.02 ø10H7

277

335

44

15
0

97.9

282

42
3

34

38H7x14

6
6

7623

27

277

P

SS

P

45
45

45 45

26.8

0°

17

4xM10x14

4x 10H7x12

SB190-90
SB190-180

8x M3x4

6x M4x6 7

7

P = 21.5
S = 51.5

3x M6x1224

4xM12x12

2x 10H7x10

2xG1/4"

4xM12x20

H74x 10 x12

H72x 10 x10

8

4xM10x148

4xM12x20

H72x 10 x10

1

1

10
8

78

98

10 10

240

14

49
±0

.0
2

84

35
442

3

H7160 0.02 10

15
0

H7200 0.02 10

70

14

49
±0

.0
2

 10H780 0.02

H738  x14
34

17

1

1

SB190G

3

1
2
5
7
8
9
bl
bs
A
B
K
L



4



4



4



4

1

2

3

4

5



4



8
15

/2
5/

50

5
21

/3
1/

56

34
/4

4/
69

51.5 21

12
.7

1.
5

7
21

M6

10

21

28

2128

12f7

1

B

A

2H7x3.5

M2.5x3.57

7

16

2x M52 3x M4x61

3

3

3x M4x6

4

8
7

5

5
13

26

21

7

B

A

16

2 12x M5 2x M4x6

1
2
3
7
br
A
B



4



25
/5

0

8
34

/5
9

50
/7

5

51.5

2128

21

28

21

12
.7

1.
5

7

10

M6

12f7

21

B

A

H72 x3.5

M2.5x3.5

7

7

16

22x M5

1

3

3

3x M4x6

3x M4x6 1

4

1
2
3
7
br
A
B



4



7

4

2

1

3

8

6

5
4

1

2

3

4

5

6

7

8



4

AFa



3 8H712 x1

16

16

7

10

18

16

H712 x1

35
/5

0
8

 2
0/

35

70
/1

00

1218

42

5
25

/4
0

7

24

5

1824

16

H712 x1

16

4.
1

16

6

4x M4x5

1

1

3 8

B

A

13

2x M52

1

2x 8

4x M4
DIN 912*

4x M4x6

1

4

1
2
3
8
bo
A
B



4

AFa



3 8

16

16

H712 x1

7

24

8

5
58

 5
0

8
68

8

14
8

12 18

42

7

16

H72x 12 x1

58

50
16

2x 6

18 24

4.
1

B

A

2x M5

2

132x 8

8x M4x51

1

4x M4
DIN 912*

3 8

4

1
2
3
8
bo
A
B



4

AFa



3 8

25

25

H720 x2

8

27

34

48.8

63

7.824

73
/1

03

5
26

/4
1

42
/5

7
8

 1
5/

30

25

H72x 20 x2

22
.5

10
25

39.6 8

12

25

25

H720 x2

5.
2

2x M12x1

B

A

2x M5 2

13

6x M5x71

9

1

4x M5
DIN 912*

3 8

3x M5x81 1

4

1
2
3
8
9
bo
A
B



4

AFa



3 8

12x M5x71

25
H720 x2

25

8

 6
0

 9
0

8
87

/1
17

5
71

/1
01

27

34

48.8

16
3/

22
3

63

39.6

H72x 20 x2

25

10

22
.5

12

25
H720 x2

25

5.
2

39.6

H74x 20 x2

25

22
.5

72

25
47

25
10

12
8

LI 30 - 90 

9

B

A

2x M12x1 13

2x M5 2

10x M5x71

1

4x M5
DIN 912*

3 8

3x M5x81
1

9

4

1
2
3
8
9
bo
A
B



4

AFa



3 8

25

25

H720 x2

 8

27

34

19
71

/1
01

18
5/

24
5

7.824

63

39.6

34 H74x 20 x2

25

30
.518

25
23

/5
3

25

8

12

48
/7

8

5.
2

2

2x M12x1

B

A

2x M5

13

9

12x M5x71
1

4x M5
DIN 912* 3 8

4

1
2
3
8
9
bo
A
B



4

AFa



3 8

38 ±0
.0

2 
ø6

H
7

30H7x2

49.4

64.4

35.4

18
28

/7
8

64
/1

14
10

40  9
0

10

12
4/

22
4

79

10

20

49

2x 30H7x2

±0
.0

2 
ø6

H
732

±0.02 ø6H7
38

13
38

30H7x2

38

38

7.732

38
±0.02 ø6H7

6.
2

B

A

2 2x M5

2x M12x1 13

4x 6H7x6

8x M6x101

1

9

4x M6
DIN 912*

2x 6H7x6

3 8

3 8

14x M6x81

1

4

1
2
3
8
9
bo
A
B



4

AFa



3 8

3 8

38
±0.02 ø6H7

30H7x2

44
.3

±0
.0

2 
ø6

H
7

25
.3

38

10

18
11

4/
15

4/
18

4
18

 9
0/

13
0/

16
0

26
0/

34
0/

40
0

49.4

35.535.5

89.4

24.5

68.8

2x 30H7x2

±0.02 ø6H7
38

50
50

/9
0/

12
0

0.
02

 ø
6H

7

31
38

12
/5

2/
82

38

2x 14

20

6.
2

42.4

33
84

/1
24

/1
54

SP

B

A

13

2x G1/8"

14

12

2xM8x1

M14x1.5

2x M12x1

2

S = 17
P =  4

5

1

8x M6x10

4x 6H7x61

1

2x 6H7x6

4x M6
DIN 912*

3 8

4

1
2
3
5
8
bn
bo
bp
A
B



4

AFa



2xM8x1

M14x1.5

3 8

3 8

38
±0.02 ø6H7

38

44
.3

±0
.0

2 
ø6

H
7

25
.3 30H7x2

10

18
22

4/
27

4/
32

4
18

 2
00

/2
50

/3
00

48
0/

58
0/

68
0

35.535.5

89.4

49.4

9.6

24.5

68.8

2x 14

20

3x 30H7x2

38
±0.02 ø6H7

50
2x

 8
0/

10
5/

13
0

H
7

0.
02

 
6

31
3x

 3
8

2x
 4

2/
67

/9
2

6.
2

42.4

33
19

4/
24

4/
29

4

2x M8
B

A

13

2x G1/8" 2

2x M12x1

14

12

5

1

1

1

12x M6x10

6x 6H7x6

2x ø6H7x6

4x M6
DIN 912* 3 8

4

1
2
3
5
8
bn
bo
bp
A
B



4

AFa



3 8

3 8

50
±0.02 ø8H7

30H7x2

50 ±0
.0

2 
ø8

H
7

14

18.5 18.5  5
0/

90
18

77
/1

17
18

31
51

/9
1

55

65

48.548.5

125

19
1/

27
1

14 64.6

30H7x2

33
/7

3
50

2x 16

20

58
/9

8
0.

02
 ø

8H
7

50
±0.02 ø8H7

8.
2

M20x1.5

2x M8

P

S

M12x1

M20x1.5

B

A

2x G1/8" 2

4x M8
DIN 912*

2x 8H7x8

3 8

12

M12x113

P =  4
S = 27

5

13

12

1

1

1

4x M8x10

2x 8H7x8

4

1
2
3
5
8
bn
bo
A
B



4

AFa



30H7x2

50
±0.02 ø8H7

50 ±0
.0

2 
ø8

H
7

M20x1.5

14

P

S

18.5 18.5

M12x1

2x M8

18
15

7/
18

7/
22

7
18

13
0/

16
0/

20
0

31
13

1/
16

1/
20

1

35
1/

41
1/

49
1

48.5 48.5

125

55

65

64.614 8.
2

M12x1

M20x1.5

30
5033

/6
3/

10
3

50

83
/1

13
/1

53
0.

02
 ø

8H
7

55

2x 30H7x2

50
±0.02 ø8H7

2x 16

20

B

A

2x G1/8"

2

5

13

12

1

8x M8x10

4x 8H7x8

1

1

P =  4
S = 27

5

12

13

2x 8H7x8

4xM8
DIN912*

3 8

3 8

3 8

4

1
2
3
5
8
bn
bo
A
B



4

AFa



3 8

3 8

3 8

50
±0.02 ø8H7

50 ±0
.0

2 
ø8

H
7

30H7x2

31
25

1/
30

1

18
27

7/
32

7
18

 2
50

/3
00

59
1/

69
1

55

65

48.548.5

125

18.518.5 64.614 2x 16

20

55
10

1.
5/

12
6.

5
10

1.
5/

12
6.

5

30
3x

 5
0

2x
 5

1.
5/

76
.5

50
±0.02 ø8H7

3x 30H7x2

8.
2

2x M8

M20x1.5

14

P

S

M12x1

M12x1

M20x1.5

B

A

2x G1/8"

2

5

12

13

P =  4
S = 27

5

13

12

0.
02

 ø
8H

7

1

12x M8x10

6x 8H7x8

1

1

4x M8
DIN 912*

2x 8H7x8

4

1
2
3
5
8
bn
bo
A
B



4



4



4



1

7

34

6
8

2

5

4

1

2

3

4

5

6

7

8



4

MbMa
A Mc

X
Y

Fx

Fy



S

12
H

7
±0

.0
2 

 3

25.5  ±0.02

13 25

12

4.
5

25
H

7
±0

.0
2 

 3

3.
5

20
H

7
±0

.0
2 

 334
.3

430 

19 ±0.02

42.5 

51 25

84 

21.5

12

3.
5

20

42

22

2x 12.5
H70.02 3

11.5

12

3.
5

20

42.5 

P

A`

B`

2x M3

H72x 3 x4

2x M3 DIN 912*
2x M4x15.8
 

1

1

2

10

4x M3
DIN 912*

1

4x M4x4.4

H72x 3 x7.5

A

B

2x M3

3x M3x51

2

4x M3x5
H72x 3 x4

1

1

3

3

H73x 3 x7.5

6x M3x7.5

3

3

B`

A`

2x M32

6
5

S = 15.5
P =  5.5

4

1
2
3
5
6
bl
A
B
K
L



4

MbMa
A Mc

X
Y

Fx

Fy



 

1

1

1

1

2

A`

B`

2x M3

2x Ø 3 H7x4

2x M3 DIN 912*
2x M4x15.8
 

2

10

4x M3
DIN 912*

1

4x M3x5

2x Ø 3 H7x4

1

A

B

2x M3

3x M3x5

3x Ø 3 H7x7.5

6x M3x7.5

3

3

B`

A`

2x M32

6
5

S = 15.5
P =  5.5

S
P

25 25.5

38±0.02

   
 1

2
0.

02
 Ø

 3
 H

7
34

.3
   

  
20 0.
02

 Ø
 3

 H
7

30±0.02

67.5

550

134
76 50

3.
5

21.5

42

20
3.

5 12
22

11.5

12

20
3.

5

67.5

12

25
±0

.0
2 

Ø
 3

 H
7

4.
5

25
±0.02 Ø 3 H7

25
±0.02 Ø 3 H7

2x Ø 3 H7x7.5

4x M4x4.4 3

3

4

1
2
3
5
6
bl
A
B
K
L



4

MbMa
A Mc

X
Y

Fx

Fy



S

16 25

28.5±0.02 

15
H

7
±0

.0
2 

 4

15 5
25

H
7

±0
.0

2 
 4

5
25

H
7

±0
.0

2 
 4

6
2343

.3

1025 

57 25

92 

22.5±0.02

46 

15

25

5
25

53

24.5

142x 12.5
H70.02 4

15

P

46 

6
23

A`

B`

3

3

H72x 4 x4

2x M4 DIN912*
2x M5x16.8
 

10

1

2x M52

2

4x M4
DIN 912*

1

4x M5x5.4

H72x 4 x9.5

A

B

3x M4x6

2x M5

1

4x M4x6
H72x 4 x5

1

1

H73x 4 x9.5

6x M4x9.5

3

3

B`

A`

1

5
6

S = 15.5
P =  7.5

2x M52

4

1
2
3
5
6
bl
A
B
K
L



4

MbMa
A Mc

X
Y

Fx

Fy



A`

B`

H72x 4 x4

2x M4 DIN912*
2x M5x16.8
 

10

1

1

2

4x M4
DIN 912*1

4x M4x6

H72x 4 x5

1

1

3

3

4x M5x5.4
H72x 4 x9.5

A

B

3x M4x6

2x M5

1

2

H73x 4 x9.5

6x M4x9.5

3

3

B`

A`

5
6 S = 15.5

P =  7.5

2x M52

S

   
 1

5
H

7
0.

02
 

4

25 28.5

41±0.02

15

5
25

H
7

±0
.0

2 
 4 43

.3
25

H
7

±0
.0

2 
 4

5

35±0.02

50 10
82 50

142

24.5

53
25

5

15
25

142x 25
H70.02 4

15

6
23

71

P

23
6

71

2x M5

4

1
2
3
5
6
bl
A
B
K
L



4



1
4

3

6
7

8

5

2

4

1

2
3

4

5

6

7

8



4

A
Mb

Mc

Ma

X

Fx

Y

Fy



 2x M5 DIN912*
 2x M6x12
 

1

S

4

19.5

34
.5

35

46
12

±0
.0

2

6
±0.02 ø5H7

33
.5

36
.5

24
±0

.0
2 

ø5
H

7

50 130.5

194.5

24 15

40
24

202x40

4040±0.02

131 50

618

30

16±0.02

24
±0

.0
2

90

16
24

24
16

80 25 5

2x
 

5H
7

5x
 M

5

9.4

13.5

28

24.580

86
±0.02 ø5H7

15

24
±0.02 ø5H7

40
24

52
±0

.0
2

P

5.
5

M
5

1

6x M5x8

4x 5H76

3

3B A
2x M5

2x M6x10

2x 5H7x8 1

2

12

3

S = 17
P =  3

2

2x M4x4.5

4x M3x5

4x M5
DIN 912*

1

22

7

4

5

5

A` B`

2x M56

X

A` B`

3x 5H7x8

1 1

2x M52

 2x M5 DIN912*
 2x M6x7
 

3

3

5x M4
DIN 912*

X

4

1
2
3
4
5
6
7
bn
cn
A
B
K
L



4

A
Mb

Mc

Ma

X

Fx

Y

Fy



 2x M5 DIN912*
 2x M6x7

4x M5 DIN912*
4x M6x12

1

1

S

294.5

180.5100

40
24

24
±0

.0
2 

ø5
H

7

36
.5

33
.5

3x40

181 100

35

2x40 0.02 55

50 15
19.5

4 34
.5

35

46
12

±0
.0

2

6
±0.02 ø5H7

30

16
24

24
16 16±0.02

24
±0

.0
2

90

618

P

M
56

5

25130

2x
 

5H
7

5x
 M

5

9.4

13.5

28 40
24

52
±0

.0
2

24.5130

15

50
        ±0.02 ø5H7

110
±0.02 ø5H7

3 6x 5H7x6

8x M5x83
2x M5

2

12

2x M6x10

2x 5H7x8

1

1

B A

S = 17
P =  3

4x M5
DIN 912*

5

5
4

4x M3x5

2x M4x4.5

7

3

1

A` B`

2x M5 2

X

63

3

5x M4
DIN 912*

3

X

A` B`

3x 5H7x81

2x M52

4

1
2
3
4
5
6
7
bn
A
B
K
L



4



1

5

6 7

8

2

4

3

4

1

2

3

4

5

6

7

8



4

Mb

Mc

Ma
A

Y

Fy

X

Fx



S1

S2

5
   

   
   

 4
0

0.
02

 
5H

7 28

2570

152x 36

788 ±0.02

P1

26
.5

2272

109 40 54

25

15

55

11
.5

25

24
±0

.0
2

40±0.02

55

50

172

48

2x 25 32

40
±0

.0
2

55 65

44.525±0.02

40±0.02 44.5

3755

11
25

23
.5

±0
.0

2

122

P2

M12x1 M12x1

B A

2x G1/8"

2

6
10

19

3

3

1

4x M5x12.5

2x 5H7x12.5

12

4x M5x8

512

B` A`

S1 = 20
P1 = 6

5

2x M5

4x 5H7x6

6x M5x8

1

1

2

3

S2 = 16
P2 =  3

3

6x M5x5

4x 5H7x5

3

3

2x 5h7x5

4x M5x5

4

1
2
3
5
6
bl
bn
bu
A
B
K
L



4

Mb

Mc

Ma
A

Y

Fy

X

Fx



S2

S2

25

152x 61

7138±0.02

120

28

5

P1

11
.5

25

24
±0

.0
2

40±0.02

55

26
.5

122 22

159 100

272

40 54

25

15

48

324x 25

44.53x 25 0.02

55 6555

40
±0

.0
2

39.540±0.02

40±0.02 15±0.02

322x 55

11
25

23
.5

±0
.0

2

172

P2

   
   

   
  

40
0.

02
 

5H
7

B A

2x G1/8"

6

10

2

3

3

12

19

4x M5x12.5

2x 5H7x12.5

M12x1 12 5

4x M5x8

M12x1

B` A`

2x M5

4x 5H7x6

6x M5x8

1

1

2

5

S1 = 20
P1 =  6

1

S2 = 16
P2 =  3

8x 5H7x5

10x M5x53

3

8x M5x5

4x 5H7x53

3

4

1
2
3
5
6
bl
bn
bu
A
B
K
L



4

Mb

Mc

Ma
A

Y

Fy

X

Fx



S1

S2

28

5
±0

.0
2 

 5
H

7
40

P1

55

40±0.02

11
.5

25

24
±0

.0
2

2548

540

26
.5 259 200

472

25 47

25

25

55

40
±0

.0
2

65

P2

272

29.5

25
11 23

.5
±0

.0
2

4
15B A

2x G1/8"

2

6
10

B` A`

2x M5

6x M5x8

4x 5H7x6

2

1

5

S1 = 20
P1 =  6

S2 = 16
P2 =  3

3

3

5

12x M5x5

6x 5H7x5

3

3

8x 5H7x5

10x M5x5

1

3

3

12

19

4x 5H7x12.5

4x M5x12.5

M12x1

4x M5x8

12

1

5

M12x1

4

1
2
3
5
6
bl
bn
bu
A
B
K
L



4

Mb

Mc

Ma
A

Y

Fy

X

Fx



M20x1.5

S1

S2

6

50 ±0
.0

2 
ø6

H
7

34

P1

191

40

6506
25

17
.5

40

37
.5

±0
.0

2

60
±0.02  6H7

100

304

75

204

P2

92
17

40

40

60 ±0
.0

2 
ø6

H
7

37
±0

.0
2

202x75

27145

150±0.02 8

30138

692x40

8940±0.02

442x60
0.02 ø6H7

M20x1.5

B A

6
2x G1/8"

2

10

12

19

4x M6x12.5

2x 6H7x12.5

12

5

4x M6x101

B` A`

5

2x M5

6x M6x10

4x 6H7x8

1

1
S1 = 25.5
P1 =  7.5

2

3

3

3

3

S2 = 33
P2 =  3

5

6x M6x9

4x 6H7x8

3x 6H7x8

6x M6x9

3

3

4

1
2
3
5
6
bl
bn
bu
A
B
K
L



4

Mb

Mc

Ma
A

Y

Fy

X

Fx



M20x1.5

S1

S2

P1

34

17
.5

40

37
.5

±0
.0

2

60
H7±0.02  6

40

30238

291

504

200

75

6
25

40

650

34

304

60
H

7
±0

.0
2 

 6
92

17
40

37
±0

.0
2

B A

6

2x G1/8"

2

10

B` A`

S1 = 25.5
P1 =  7.5

4x 6H7x8

6x M6x10

2x M5 2

1

1 5

S2 = 33
P2 =  3

3

3

5

12x M6x9

6x 6H7x8

3

3

5x 6H7x8

10x M6x9

12

19

3

3

2x 6H7x12.5

4x M6x12.5

M20x1.5

12

5

4x M6x101

4

1
2
3
5
6
bl
bn
bu
A
B
K
L



4



4



4



3

8

4

7

1
2

6

5
4

1

2

3

4

5

6

7

8



4

AMy

D

10 cm

Mr



50

30

55

 5
0 

/ 
10

0
10

3.
5 

/ 
15

3.
5

17
3.

5 
/ 

27
3.

5

12
61

 /
 1

11

25

30
±0.02 ø5H7

20
40

40
±0

.0
2

12
63

30

55

12

70

70 7.5

55
0.02 ø5H7

50

22

50

26

50

B

A

2x G1/8"2

21

7

20

B`

A`

1`2`

2x M5

2x M52

15

4x M6x10

2x 5H7x51

1

1

2

4x M6x10

4x 5H7x5

2x M5

3

3

15

B` A`

2

1

2x M5

2x M5

15

2

2x 5H7x5

4x M6x10 1

1

4

1
2
3
7
bq
cl
cm
A
B
K
L



5



5



5



2 3

1

5

7

8

6

4

5

1

2

3

4

5

6

7

8



5



22

7

55

13

17

10f7

94

23

30

5

1

2

A

1

3

DIN 936
M10

M3

5

1
2
3



5



21

15f716

29

11
7.

5

9

69
.5

36

26

7

2

3

1

DIN 936
M14x1.5 1

A

M5

5

1
2
3



5



45

20f7

14
8.

5 91
.5

35

22

12

33

28

9.
5

1DIN 936
M20x1.5

G1/8"2

A

1

3

5

1
2
3



5



65.5

11

19
4.

5

13
2.

5
35

22

17

38

20f7

38

3

1

DIN 936
M20x1.5 1

G1/8"2

A

5

1
2
3



5



5



5



1
2

4

3

7

6 5

8

5

1

2

3

4

5

6

7

8



5

Fa

MrMy



28

40
±0.02  5H7

12
.3

22

15 6.5

286.5

27.4 28

50

12
18

6.
5

15°

4 78

20H7

2

42

14
0

34.6

24.8

40
±0.02  5H7

12
±0

.0
2

12  
-0.02

AB

4x M3x5

7

2x M5

2

4x 5H7x6

8x M5
DIN912*

1

1

1

2x 5H7x8

4x M5x8

2x M5 2

1

1

A`B`

2x M6x73

3938

M
5

1.2

Ø
5

Ø
8

O-Ring
Ø5x1.5

5

1
2
3
7
dt
du
A
B
K
L



5

Fa

MrMy



38

50
±0.02 ø6H7

14
.5

24

34.4

1020

40

36

50
±0.02 ø5H7

60

15
28

6.
5

29
±0

.0
2

12  
-0.02

18°

56

84

8

16
0

2

58
.5

44.6

25H7

24.8

6

B A

4x M3x5

7

2x M5

2

4x 5H7x6

8x M5
DIN912*

1

1

1

B` A`

2x 6H7x6

4x M6x10

2x M5 2

1

1

2x M6x83

3938

M
5

1.2

Ø
5

Ø
8

O-Ring
Ø5x1.5

5

1
2
3
7
dt
du
A
B
K
L



6



6



6



6

1

2

3

4

5

6
7

8



6

Fa

My
Mx

Mr



10
15

52

19

21 
±0.02 ø3H7

29
.5

17
.5

38
±0

.0
2

33
10

13.9

7

4
7

4x
 

3.
2

28

7.5

17

2x
 

3H
7

14

5
9

2x M5

2

B

A

2x M3x4

7

6

3

2x M3
DIN 912*

1

1

2x M3 2

A`

B`

61
2
3
6
7
A
B



6

Fa

My
Mx

Mr



20

5
10

9.8

18.2

21

42
27

45
15

52
.5

±0
.0

2

20
±0.02 ø4H7

18

75

4x
 

4.
2

28

9.5

2x
 

4H
7

20

B

A

2x M3x4

2x M52

7

6

3

1

1

2x M4
DIN 7984

61
2
3
6
7
A
B



6

Fa

My
Mx

Mr



20
12

5

75
15

82
.5

±0
.0

2 72
47

20
±0.02 ø4H7

18

28

9.8

4x
 

4.
2

5
10

18.2

21

9.5

2x
 

4H
7

40

2x M3x4

2x M5

2

B

A

7

6

3

2x M4
DIN 7984

1

1

61
2
3
6
7
A
B



6

Fa

My
Mx

Mr



30
30

11
0

66
28

66
36

8
14

14

4x
 

6.
2

25.8

32

28

32
±0.02 ø6H7

44

74
±0

.0
2

12
±0

.0
2

16

2x
 

6H
7

B

A

2x M3x5.5

2x M5

2

7

6

3

2x M6
DIN 912*

1

1

61
2
3
6
7
A
B



6

Fa

My
Mx

Mr



60
18

5

12
0

50

11
0

67

32
±0.02 ø6H7

28

44

13
0±

0.
02

30
±0

.0
2

25.8

32

2x
 

6H
7

8
14

8x
 

6.
2

14

16

30

2x M3x5.5

2

B

A

7

2x M5
6

3

2x M6
DIN 912*

1

1

61
2
3
6
7
A
B



6



1

5
7

4

2

8

6

3

6

1

2

3

4

5

6

7

8



6

Fa

My
Mx Mr



10

20

35 
±0.02 Ø 3H7

42

10

7

8x
 Ø

 3
.2

7.5

17

13.9

16

2x
 Ø

 3
H

7

38
±0

.0
2 26

33

52
15

6
8.

5

4
7

A

B

16
2x M5

2

4x M3x4

7

3

4x M3
DIN 912*

1

2x M3 2

A`

B`

61
2
3
6
7
A
B



6

Fa

My
Mx Mr



10

7.
5

8

75

15
45 42

52
.5

±0
.0

2

10

50
±0.02 ø4H7

58

18.2

21

20
20

2x
 

4H
7

5
10

9.8

9.5

8x
 

4.
2

30

A B

4x M3x4

2x M5

12

7

6

4x M4
DIN 7984

1

3

B`
A`

2x M5 2

3938

M
3

0.8

Ø
3

Ø
5

O-Ring
Ø3x1

61
2
3
6
7
dt
du
A
B
K

L



6

Fa

My
Mx Mr



10

30

20
40

82
.5

±0
.0

2

75
15

12
5

50
±0.02 ø4H7

58

18.2

21

9.5

9.8

5
10

8x
 

4.
2

5.
5

8

72

10

2x
4H

7

A B

4x M3x4 7

1

2

6

2x M5

4x M4
DIN 7984

1

3

A`
B`

2x M5 2

3938

M
3

0.8

Ø
3

Ø
5

O-Ring
Ø3x1

61
2
3
6
7
dt
du
A
B
K

L



6

Fa

My
Mx Mr



10

7
18

36

66
16

85
±0

.0
2

20
75

11
0

30
30

5 3

66
±0.02  6H7

78

25.8

32

16

14

8
14

8x
 

6.
2

2x
6H

7

A
B

6

4x M3x5.5

2x M5

7

2

4x M6
DIN 912*

3

1

1

A`

B`

2x M5 2

3938

M
3

0.8

Ø
3

Ø
5

O-Ring
Ø3x1

61
2
3
6
7
dt
du
A
B
K

L



6

Fa

My
Mx Mr



7
18

10

12
0

20

18
5

11
1

16

13
0±

0.
02

35

66
±0.02 ø6H7

78

25.8

32

30
60

36 14

14

16

8

8x
 

6.
2

2x
6H

7

A
B

2x M5

6

2

4x M3x5.5 7

4x M6
DIN 912*

3

1

1

B`

A`

22x M5

3938

M
5

1.2

Ø
5

Ø
8

O-Ring
Ø5x1.5

61
2
3
6
7
dt
du
A
B
K

L



6



6



6



6

1

2

3

4

5

6

7

8



6

Fa

My
Mx

Mr



29

20
±0

.0
2 

 2
.5

H
7

16
±0.02 ø2.5H7

40
±0

.0
2

33
.5

7

10

15

4.
5

6.
5

4x
3.

2

28
±0.02 ø2.5H7

4016.8

68
±0

.0
2

74 80
16

10

27

17
.3

28
     ±0.02 ø2.5H7

68
±0

.0
2

74

2x 2.5H7x5

1

2

4x M4x6 4xM3
DIN912*

1
1

3

2x M4x7

2x 2.5H7x5 1

1

4x M3x5

2x 2.5H7x5

1

1

2x 2.5H7x51

6

1
2
3



7



*

*

7

Fa
Mx



8



8



8



8



8

1
3
5



8

1
3
5



8

1
3
5



8

1
3
5



8

1
3
5



8

1
3
5



8

1
3
5



8

1
3
5



8

1
3
5



8



9



9



9



9



9



9



9



9



9



9







10

A

1.5

B

D

B A

C

M
6

9°

d1

d2

l1

d3



10

7 19,5

19
,5

29

218

2,
5

1,
5

11
,5

3,
5

ø2 ø5ø4

4 8

150 x 200



10

C

A

B

E

D



10



10

1
3

1
3

1
3



10



10

1
4

1
4



9



876

CHECKLIST 
GRIPPER 

Self Locking

Gripping type

Chemical substances / If yes, which

Gripping inward

Prism angle

Temperature

Gripping force 

Not required When closing When opening Pressure safety valve

Axis acceleration

Gripping  outward

Clean / Dry Small amount of swarf
Coolant overspray

Large amount of swarf Coolant 
under pressure of grinding agents

kg gN

°

or Workpiece weight

m/s²

Required force

°C Cycles per minute

Volts

Drive

Required stroke

Ambient conditions

Pneumatic

Per jaw

Gripper top edge to force application point 

Operating pressure

Electric

bar

mm

mm

mmor

Hydraulic

Voltage

Total stroke

Customer number

Company

Contact 
Mr. Mrs.

Request

Order

Parallel gripper

Other / If yes, which type

Desired date

Three-jaw gripper

Req. No.

Ord No.

Angular gripper

Telephone number 

E-Mail

Fax number

www.zimmer-group.com



877

Pressure safety valve

Notes/comments

Editor/Date

Sketch 3D model Other

Straight

Angled

Flow control valve

Desired accessories

Desired accessories

Inductive sensor

Separate cable / If yes, how long

With cable

m

Pluggable

www.zimmer-group.com





+32 3 355 32 20 | www.pneuvano.com







1



1



1



3

1 2

4

7

5

6

1

1

2

3

4

5
6

7



1

Fa

Mr

My



31.5
±0.02 5H7

31.5
±0.02 5H7

4

40h8

31°

28°

45°

20
13

3 20h7

10
±0

.0
2

17

10

16±0.02

14
.8

40h8

31°

28
°

20H7

17

3.
5

8.
5±

0.
02

14

16±0.02

10

45°

X
Y

5H7x6

4x M5
DIN 7984

1

1

HWR2031F

36

1

8

35
44x M5

2x M3x4.5

2x 2.5H7x3

X

5

5

5H7x6

4x M5x9

11

11

HWR2031L

4

11

4x M5

Y 5

5

2x M3x4.5

2x 2.5H7x3

1

HWR2031F

HWR2031L

1
4
5
8
bm
dq
dr



1

Fa

Mr

My



40
±0.02    6H7

40

4

50h8

45°

30°

30°

25h73
20

13

16±0.02

10

10
±0

.0
2

17
13

.8

30°
30°

50h8

17

3.
525H7

8.
5±

0.
02

14

16±0.02

10

45°

±0.02    6H7

X
Y

6H7x6

4x M6
DIN 7984

HWR2040F

1

1

4x M5 4
1

36

8

35

2x M3x4.5

2x 2.5H7x3

5

5

X

6H7x6

4x M6x9

11

11

HWR2040L

4x M54

11

Y 2x M3x4.5

2x 2.5H7x3

5

5

1

HWR2040F

HWR2040L

1
4
5
8
bm
dq
dr



1

Fa

Mr

My



63h8

50 50

63h8

±0.02    6H7 ±0.02    6H7
45° 45°

6H7x611

4xM6x911

6H7x6 1

4x M6
DIN 7984

1
17°

17°
17° 17°

17°

17
°

19.5° 19.5°

4

36

8

3
20

13

13
.8

35 31.5h7
31.5h78x M5

8x M5

4
1

4

X

X

Y

Y

17

3.
511

2x M3x4.5

2x 2.5H7x3

5

5

2x M3x4.5

2x 2.5H7x3

5

5

8.
5±

0.
02

10
±0

.0
2

1417

16±0.02

10

16±0.02

10

1

HWR2050F

HWR2050L

1
4
5
8
bm
dq
dr



1

HWR2031 / 2040 / 2050

WER201



1



1



5

8

4

7

6

1

3

2

1

1

2

3

4

5

6

7

8



1

Fa

Mr

My



X
Y

R62.5

63
±0.02 6H7

6666

22° 18° 14°

22°

18
°

14
°

60°

37.2

80
h8

45°

3
22

.5
12

.3

40h7

10
±0

.0
2

19

26
±0.02 3H7

63
±0.02 6H7

80
h8

22
°

18°
14°

45°

18°
14°

22°

40H74

22
.5

4

26
±0.02 3H7

19

10
±0

.0
2

37.2

6x M5 4

6x M5 4
1

3

X

X
6H7x6

4x M6
DIN 912*

1

1

HWR63F-B

4x M3x5

4x 3H7x3.5

5

5

Y

Y

6H7x6

4x M6x8

6x M5 4

1

1

HWR63L-B

6x M54

11

4x 3H7x3.5

4x M3x5

5

5

O-Ring
5x1

0.7

7 M
5 3

39 38

O-Ring
5x1

0.7

7 M
5 3

39 38

1

1
3
4
5
bm
dt
du



1

Fa

Mr

My



80
±0.02 8H7

R71

80
±0.02 8H7

10
±0

.0
2

19

26
±0.02 3H7

50h73
22

.5

10
0h

8

16° 14°
14°

14
°

14°

30
°

6x 60°

97.8

12
.3

45°

10
0h

814°

14
°

16°
14°

14°

30°

6x 60°

97.8

22
.5

4

4

50H7

26
±0.02 3H7

10
±0

.0
2

19

HWR80F-B HWR80L-B

46x M5

6x M8
DIN 912*

8H7x8

1

1

X

X

3

1 46x M5

Y

Y

6x M8x10

8H7x8

11

11

6x M5
4

6x M5

11

4

4x M3x5

4x 3H7x3.5

5

5

Y
4x M3x5

4x 3H7x3.5 5

5

X

O-Ring
6x1

0.7

8.
5

M
5

3

39 38

O-Ring
6x1

0.7

8.
5

M
5

3
39 38

1

1
3
4
5
bm
dt
du



1

WWR63 / 80 – HWR63 / 80

WER03
WER2000

WER03
WER2000



1



2



2



2



8

5

4
1

7

3

6

2
2

1

2

3

4

5

6

7

8



2

Fa

Mr

My



3

2

1
2
4
5
7
bm
dp
dt
du
A
B
K
L



2

Fa

Mr

My



3

2

1
2
4
5
7
bm
dp
dt
du
A
B
K
L



2

Fa

Mr

My



2

1
2
4
5
7
bm
dp
dt
du
A
B
K
L



2

Fa

Mr

My



2

1
2
4
5
7
bm
dp
dt
du
A
B
K
L



2

Fa

Mr

My



2

1
2
4
5
7
bm
dp
dt
du
A
B
K
L



2

Fa

Mr

My



WWR125F-B WWR125L-B

2

1
2
4
5
7
bm
dp
dt
du
A
B
K
L



2

Fa

Mr

My



2

1
2
4
5
7
bm
dp
dt
du
A
B
K
L



2



2

1

2

3

4

5

6

7

8

9



2

WWR40 / 50

WER02
WER1000



2

WWR63 / 80 – HWR63 / 80

WER03
WER2000

WER03
WER2000



2

WWR100

WER04

APWER3041

APWER3042

WER3000

WER04

APWER3041

APWER3042

WER3000

WER3000 WER3000



2



2

WWR125 / 160

APWER3052

APWER3054

WER05

WER3000

WER3000 WER3000

APWER3052

APWER3054

WER05

WER3000



2



2



3

8

6
71

2

5

4

2

1

2

3

4

5

6

7

8



2

Fa

Mr

My



2

1
2
5
7
8
bm
cu
dl

dm
dn
A
B



2

Fa

Mr

My



2

1
2
5
7
8
bm
cu
dl

dm
dn
A
B



2

WWR1160 / 1200

WER3000

APWER3062

APWER3064

WER106

WER3000



2



2



2



3



3



3



1

2

4
5 6

7 8

3

3

1

2

3

4

5

6

7

8



3

FaMy

Mr



40
±0.02 6H7

32

40
±0.02 6H7

25h7 3
7

38

3.
5

13

25H7

x4
09°

45°

36
31.5

22
4.3

40°

20°

65°

25
°

50h8

10

33

1

4 3

X

1

11

M3

1 2

4 3 2

4x M5

4x M5

4

4

X

19

20

2`
3`4`

4x M2.5

6H7x6

4x M6x8

4

11

11

1`

176H7x7

4x M6
DIN 7984

1

1

3

1
4
bm
bs
bu
cl
do
dt
du



3

FaMy

Mr



37

50
±0.02 6H7

50
±0.02 6H7

31.5h7

31.5H7 3.
5

13

3
7

38

40°

25
°

65°

63h8

20°

42.5
38.5

4x90°

45°

10

22
4.3

33

1

4 3 2

1

11

X

M5

6H7x6

4x M2.5

4x M6x8

4

11

11

1`

2`

3`4`

6H7x7

4x M6
DIN 7984

1

1

17

1 2

123

4x M5

4x M54

4

X

19

20

3

1
4
bm
bs
bu
cl
do
dt
du



3

FaMy

Mr



63
±0.02 6H7

48

63
±0.02 6H7

40h7

40H7 6

16
.2

3
8

53

24°
02°

20°
24°

80h8

58

50

40

6.
3

4x
90

°

45°

1 2 3

1 2

1

11

X

33

1`
2`

3`

4`5`
6`

6H7x6 11

11

46x M3

4x M6x6

17

4x M6
DIN 7984

6H7x8 1

1

1 2 3 4 5 6

1 2 3 4

6x M5

6x M5

4

4

M5

19

20

X

3

1
4
bm
bs
bu
cl
do
dt
du



3

FaMy

Mr



70

80
±0.02 8H7

80
±0.02 8H7

100h8

4

40

6.
3

50h7

50H7 6

16

53

3
8

68

60

23°
33°

36°

28°

42°

50
°

6x 60°

30
°

33

1 2 3

456

1

11
6x M5

6x M5 4

4

X

6`
5` 4`

1`

2` 3`

6x M3

6x M8x10

8H7x8

4

11

11

17

6x M8
DIN 7984

8H7x8

1

1

M5

19

20

X

1 2 3 4 5 6

4 3

3

1
4
bm
bs
bu
cl
do
dt
du



3

FaMy

Mr



76

90

100
±0.02 8H7

100
±0.02 8H7

80

12

80

125h8

5

63h7

63H7 6

18

4.
5

12

82

95

57
.5

°

20° 25° 20°

30
°

6x 60°

33
1234

5 6 7 8

1234

X

1

11

4

4

8x G1/8"

8x G1/8"

M5

1`

2`3`

4`

5`

6` 7`

8`
17

4

11

11

8x M4

8H7x8

6x M8x12

8H7x8

6x M8
DIN 912

1

1

19

20

X

3

4.
5

12

18

58

33
1234

4321

4x G1/8"

4x G1/8"

4

4

M5

4x M44

1`

2` 3`

4`

1
4
bm
bs
bu
cl
do
dt
du



3

FaMy

Mr



125
±0.02 10H7

95

125
±0.02 10H7

160h8

5

100

80

12

80H7

80h7 4.
5

12

82

18

8

115

50
°

3x24°

30
°

6x 60°

33

8x G1/8"

8x G1/8"

1

11

1234

5678

1234

X

4

4

M5

17

4

11

11

8x M4

10H7x10

6x M10x15

1`
2`3`

4`

5`
6` 7`

8`

6x M10
DIN 7984

10H7x12

1

1

X

19

20

3

18

4.
5

12 5833
1234

4321

4x G1/8"

4x G1/8"

4

4

M5

4`
3`2`

1`

4x M44

1
4
bm
bs
bu
cl
do
dt
du



3

FaMy

Mr



160
±0.02 10H7

160
±0.02 10H7

135

200h8

80

82

18

12
4.

5

12

5

100H7

100h7

8

120

50
°

3x24°

135

30
°

6x 60°

33

4

4

1
8x G1/8"

8x G1/8"

X

1234

5 6 7 8

1234

11

M5

10H7x10

6x M10x15

8x M4

11

11

4

17

1`
2`3`

4`

5`
6` 7`

8`

1

110H7x12

6x M10
DIN 7984

19

20

X

3

5812

18

4.
5

4x G1/8"4

4x G1/8"4

4

4

1234

4321

4x M444

1`
2` 3`

4`

1
4
bm
bs
bu
cl
do
dt
du



3



3



3

FaMy

Mr



3

1
4
bm
bs
bu
cl
cm
dt
du



4



4



4



1

2

77

8

3

4

6

5

4

1

2

3

4

5

6

7

8



4

Fa

My

Mr



40

40
±0.02     6H7

2

4x 90°
45°

16 16

3

51
.5

3.
5

8
8

79

25h7

25H7

4x 90°

45°

±0.02     6H7

A

G1/8" 2

B

G1/8"

6x M6x6
DIN914

2

16

14

1412

6H7x8

4x M6x8 11

11

6H7x8

4x M6
DIN7984

1

1

4
1
2
bm
bn
bp
br
A
B



4

Fa

My

Mr



50

4

50
±0.02      6H7

4x 90°
45°

4

68

4

12
12

31.5H7

100

20
.5

20
.5

31.5h7

4x 90°

45°

±0.02      6H7

A

G1/8" 2

11

1

B

G1/8"

6x M6x6
DIN914

2

16

12

14

14

6H7x12

4x M6x12

11

11

6H7x12

4x M6
DIN912

1

1

4
1
2
bm
bn
bp
br
A
B



4



4

1

2

5

3

7
8

6

4

1

2

3

4

5

6

7

8



4

Fa

My

Mr



 63
±0.02 6H7

10 10

3 3
3 3

63
±0.02 Ø6H7

40H7x6

1 1

9.
5

6

15 15
.8

25

10 7.5

10
5

40h7x5

105
~9

60
.8

A
B

2x M5

3736

43 43

2

40 40

37 36

45

41 41

3x M3x5

39

6x M3x5

39

3736

44 45

4x M6x15

6H7x6 11

11

11

1

6H7x6

4x M6
DIN 7984

1

1

36

377

4
1
2
7
bm
dr
ds
du
el
em
eo
ep
eq
A

B



4

Fa

My

Mr



10 10

55
55

80
±0.02 Ø8H7

50H7x6

1 1

7.59

8
9.

5

15 15
.8

27

13
0

130

80
±0.02 Ø8H7

50h7x5

~9

62
.8

2

A
B

36 37

43 43

40 40

2x G1/8"

3x M3x5

39
45

37 36

41 41

6x M3x5

39

36 37

4544

11

8H7x8

6x M8x15

11

11

6x M8
DIN 7984

8H7x8

1

1

1

36

377

4
1
2
7
bm
dr
ds
du
el
em
eo
ep
eq
A

B



4

Fa

My

Mr



10 10

5 5

5 5

100
±0.02 Ø8H7

63H7x8

710

8.
5

12
.5

1 1

18 18
.8

30

16
4.

7

164.7

100
±0.02 Ø8H7

63h7x5

~9

71
.8

3736

A
B

2x G1/8"
4343

40 40

2

45

3637

41 41

3x M3x5

39

3736

6x M3x5

39 4544

1

8H7x8

6x M8
DIN 7984

1

1

36

377

11

8H7x8

6x M8x18

11

11

4
1
2
7
bm
dr
ds
du
el
em
eo
ep
eq
A

B



4

Fa

My

Mr



10 10

8 8

8 8

125
±0.02 Ø10H7

80H7x8.5

1 120

8.
5

12
.5

20 20
.8

33

20
3

203

125
±0.02 Ø10H7

80h7x6

~8

79
.8

A
B

2x G1/8"

36 37

2
43 43

40 40

3x M3x5

39

37 36

45

41 41

6x M3x5

39

36 37

4544

10H7x10

6x M10x20

11

11

11

10H7x10

6x M10
DIN 7984

1

1

1

36

377

4
1
2
7
bm
dr
ds
du
el
em
eo
ep
eq
A

B



4

Fa

My

Mr



10

1010

10

10 10

160
±0.02 Ø10H7

20 1

160
±0.02 Ø10H7

235

23
5

~8

8.
5

12
.5

35

20 20
.8

1

100h7x6

100H7x8.5

81
.8

36 37

43

4040

2x G1/8"243

A
B

10H7x10

6x M10x20 11

11

11

36 37

6x M3x5

39 4544
45

37 36

3x M3x5

39

41 41

6x M10
DIN 7984

10H7x10

1

1

1

7 37

36

4
1
2
7
bm
dr
ds
du
el
em
eo
ep
eq
A

B



4



7

1 2

3

4
5

6

4

1

2

3

4

5

6
7



4

400

800

0

200

600

1000

4 6 10
0

82

FH
FV

Fa

My

Mr

3

5

0

2

4

6

4 6 10
0

82

My
Mr



4
1
2
bm



4

400

800

0

200

600

1000

4 6 10
0

82

FH 
FV

Fa

My

Mr

4

8

0

2

6

10

4 6 10
0

82

My
Mr



4
1
2
bm



4

1200

2400

0

600

1800

3000

4 6 10
0

82

FH
FV

Fa

My

Mr

14

28

0

7

21

35

4 6 10
0

82

My
Mr

2000

4000

0

1000

3000

5000

4 6 10
0

82

FH
FV

20

40

0

10

30

50

4 6 10    
0

82

My
Mr



4
1
2
bm



4

1200

2400

0

600

1800

3000

4 6 10
0

82

FH
FV

Fa

My

Mr

20

40

0

10

30

50

4 6 10    
0

82

My
Mr

2000

4000

0

1000

3000

5000

4 6 10
0

82

FH
FV

14

28

0

7

21

35

4 6 10
0

82

My
Mr



4
1
2
bm



4

4000

8000

0

2000

6000

10000

4 6 10 
      0

82

FH 3
FV 3
FH 6
FV 6

Fa

My

Mr

120

240

0

60

180

300

4 6 10
0

82

My 3
Mr 3
My 6 
Mr 6 3000

6000

0

1500

4500

7500

4 6 10
0

82

FH 3 
FV 3 
FH 6 
FV 6



4
1
2
bm



4

Fa

My

Mr

120

240

0

60

180

300

4 6 10
0

82

My 3 
Mr 3 
My 6 
Mr 6 140

280

0

70

210

350

4 6 10
0

82

My 3 
Mr 3
My 6
Mr 6



4
1
2
bm



4

Fa

My

Mr

250

500

0

125

375

625

4 6 10
0

82

My 3
Mr 3
My 6 
Mr 6



4
1
2
bm



5



5



5



6

1

2

3

5

7

8

4

5

1
2

3

4

5

6

7
8



5

400

800

0

200

600

1000

3 4 6
0

52

14

28

0

7

21

35

3 4 6
0

52

8

16

0

4

12

20

3 4 6
0

52



5

1
2
bo
bp
bq



5

800

1600

0

400

1200

2000

3 4 6
0

2

20

40

0

10

30

50

3 4 6
0

52

12

24

0

6

18

30

3 4 6
0

52



5

1
2
bo
bp
bq



5

1200

2400

0

600

1800

3000

3 4 6
0

52

60

120

0

30

90

150

3 4 6
0

52

40

80

0

20

60

100

3 4 6
0

52



5

1
2
bo
bp
bq



5

2000

4000

0

1000

3000

5000

3 4 6
0

52

100

200

0

50

150

250

3 4 6
0

52

100

200

0

50

150

250

3 4 6
0

52



5

1
2
bo
bp
bq



5

4000

8000

0

2000

6000

10000

3 4 6
0

52

250

500

0

125

375

625

3 4 6
0

52

200

400

0

100

300

500

3 4 6
0

52



5

1
2
bo
bp
bq
do



5

8000

16000

0

6000

12000

20000

3 4 6
0

52

500

1000

0

250

750

1250

3 4 6
0

52

500

1000

0

250

750

1250

3 4 6
0

52



5

1
2
bo
bp
bq
do



6

138

Flexible connection to your robot
Adapter plate manufactured according to EN ISO 9409-1 matches for a variety of 40  

 

Adapter plates and angle flanges can be combined with 16 different grippers - with 

ROBOT ACCESSORIES
ANGLE FLANGE

www.zimmer-group.com      Data, Drawings, 3-D Models, Operating Instructions



6

139

 M10iA

 viper S13400
 smart six

ViperS650
Pro Six
LR mate 200
KR5 sixx
RV1, RV2, RV3, RV4, RV5, RV6
HP3, HP5, HP6
RX60, TX40, TX60, RS20, RS40, RS60, RS80

GD304
GD306
GP404
GP406

GD308
GD310
GP408
GP410

WFR02

WFR01

GPP5004
GPP5006
GPD5004
GPD5006

WFR03

GPP5008
GPP5010
GPD5008
GPD5010

WFR04 

Angle flange

Adapterplatte

Order no.:

APR05 

ABWFR01

ABWFR02

DUWFR01

SPWFR01

für WFR01 + WFR02

Cover plate

Programming pins

for WFR01 + WFR03

2nd step: 

1st step:  

3rd step:

APR01 

APR02 

APR03 

APR04 

Order no.:

Order no.:
Accessories

All other informations about 

www.zimmer-group.de

Data, Drawings, 3-D Models, Operating Instructions      www.zimmer-group.com










